(3) TG KK E R A

1) AKEE=F—IT X DG KB E RS 5
2 ) TR KRG R da K kK
3) BRFAKIEAESEM R K S R G KRR K
4) BrepKIEARZEES KSR Aa KFRK
5) BPRIAR TR KFRIK
(Bt 7K B A ZE G40 )i K55 5% L OY
i AR ZE TR 4L ) N RSk 8 5 T R
IRA G KA K)

67



1) KEE=2—IT & 2 HAa7KHENERS R

O
A o

- y 4 5 6 7 8 9 10 | 11 | 12 1 2 3 || K|
el o< o< o<l o« o< a0 < <o) a0 o«

& B RIE <) o< o< <) o< <o) o<« o< o<aoa) ol o<« o<«
Rl o< o< <) < <) <) o< i< o< oa o«
B&| 0.1 <0.1) <0.1 <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1) <0.1 <0.1

) BE () B[ <0.1] <0.1] <0.1] <0.1) €0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <€0.1| <0.1[<0.1/<0.1/<0.1
S| <0.1) <0.10 <0.1] €0.1) <0.1) <0.1] €0.1 <0.1| <0.1 <0.1 <0.1 <0.1
& | 0.82) 0.80) 0.77 0.71 0.69 0.71 0.70 0.72 0.76] 0.78 0.74 0.74

;ﬁ‘g 7o (mg/L) A& 0.61 0.70) 0.68 0.59 0.54/ 0.62 0.61 0.67| 0.69 0.68 0.61 0.61[0.82 0.54 0.69
S| 0.68] 0.74) 0.73 0.65 0.62 0.66 0.68 0.70 0.72| 0.71 0.68 0.66

W A
A o

- » 4 5 6 7 8 9 10 | 11 | 12 1 2 3 || K|y
el o< o< o<l o« o< a0 < <o) a0 o«

& B RIE <) o< o< <) o< <o) o<« o< o< gl ol o<« o<«
Yl o< o< <) o< <) <) o< i < <aoa o«
B&| 0.1 <0.1) <0.1 <0.1 <0.1| <0.1 <0.1) <0.1| <0.1 <0.1) <0.1 <0.1

) BE () B[ <0.1] <0.1] <0.1] <0.1) €0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1[<0.1/<0.1/<0.1
S| <0.1) <0.10 <0.1] €0.1) <0.1) <0.1] €0.1 <0.1| <0.1 <0.1 <0.1 <0.1
&) 0.80 0.77) 0.79 0.77 0.72 0.79 0.77| 0.79) 0.79 0.85| 0.77 0.73

;ﬁ‘g 7o (mg/L) BA&| 0.73 0.73) 0.71 0.72 0.68 0.68 0.68 0.69 0.76 0.75 0.67 0.60[0.85/0.600.74
S| 0.76) 0.75) 0.75 0.75) 0.71 0.73 0.72) 0.74 0.78| 0.78 0.71 0.66
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A o

H R 4 5 6 7 8 9 10 | 11 | 12 1 2 3 || K|

el o< o< o<l o« o< a0 < <o o a0 o«

& B RIE <) o< o< <) o< <o) o<« o< o< gl ol o<« o<«
Yl o< o< <) o< <) <) o< i o< <aoa o«
B&| 0.1 <0.1) <0.1 <0.1 <0.1| <0.1 <0.1) <0.1| <0.1 <0.1) <0.1 <0.1

) BE () B[ <0.1] <0.1] <0.1] <0.1) €0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1[<0.1/<0.1/<0.1
S| <0.1) <0.10 <0.1] €0.1) <0.1) <0.1] €0.1 <0.1| <0.1 <0.1 <0.1 <0.1
&) 0.75) 0.69) 0.71 0.85 0.71 0.70 0.70 0.79 0.75 0.84 0.74 0.74

;ﬁj 7o (mg/L) %] 0.68 0.63 0.65 0.60 0.57| 0.67 0.60 0.63] 0.69 0.69 0.55 0.47(0.85 0.47 0.67
S| 0.72) 0.67) 0.68 0.66] 0.62 0.69 0.64 0.71 0.71| 0.74 0.64 0.60
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- y & 4 5 6 7 8 9 10 | 11 | 12 1 2 3 || K|
el o< o< o<l o« o< < o< <o a0 o«
& B RIE <) o< o< <) o< o< <) o<« o< o< g o« o<« o<«
Yl o< o< <) o< <) <) o< i< o< o<a o«
B&| 0.1 <0.1) <0.1 <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1) <0.1 <0.1
) BE () B[ <0.1] <0.1] <0.1] <0.1) €0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <€0.1| <0.1[<0.1/<0.1/<0.1
S| <0.1) <0.10 <0.1] €0.1) <0.1) <0.1] €0.1 <0.1| <0.1 <0.1 <0.1 <0.1
&) 0.700 0.73) 0.73 0.67 0.70 0.70 0.72| 0.72| 0.75 0.87| 0.88 0.83
;ﬁ‘g % (mg/L) %] 0.64 0.60 0.59 0.61 0.60 0.65 0.65 0.67| 0.66 0.75 0.64 0.61[0.88 0.59 0.69
S| 0.68) 0.67 0.68 0.64 0.63 0.67| 0.68 0.69 0.69 0.77 0.77 0.71
R B R
A o
- » 4 5 6 7 8 9 10 | 11 | 12 1 2 3 || K|
el o< o< o<l o« o< < o< <o a0 o«
& B RIE <) o< o< <) o< o< <) o<« o< o<aoal ol o<« o<«
Rl o< o< <) o< <) <) o< oo o<aoa o«
B&| 0.1 <0.1) <0.1 <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1) <0.1 <0.1
) BE () B[ <0.1] <0.1] <0.1] <0.1) €0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1[<0.1/<0.1/<0.1
S| <0.1) <0.10 <0.1] €0.1) <0.1) <0.1] €0.1 <0.1| <0.1 <0.1 <0.1 <0.1
&) 0.78 0.76) 0.81 0.79 0.83 0.75 0.76 0.73 0.79 0.77 0.80 0.77
;ﬁj % i (mg/L) A& 0.74 0.70) 0.70 0.70 0.68/ 0.68 0.70 0.70| 0.70 0.65 0.69 0.54(0.83 0.54 0.73
S| 0.76) 0.73) 0.77 0.74) 0.72 0.71 0.73) 0.72 0.72| 0.71 0.74 0.66
KEE = —R BT
g4 i faoK RO w®OE YA
o W R MK R POEAIT 1 TH EaiARN
HE H R i HEE1TH SHARA
— Ak £ 3E FTE 4 ) 1K 5 % - —
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2 ) i K55 G K AR IK
FRIRHA K R KR K (2D 1)

HH

B i i B Cru/mD) AR 0 0

(=)
S
(=)
(=]

H_
§F
o
b
5B

Bl <0.0010 <0.001  <0.001  <0.001 <0.001  <0.001
¥ (mg/L) | #AK| <0.001  <0.001 <0.001| <0.001 <0.001  <0.001
SEHJ[ <0.0010  <0.001]  <0.001  <0.001| <0.001  <0.001

W K& O = o 1k

op

B <0.03|  <0.03 <0.03|  <0.03 <0.03|  <0.03
(mg/L) | Hf&K <0. 03 <0. 03 <0.03 <0. 03 <0.03 <0. 03
SEH) <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03

g% &k O o fb

o>
§

Ris gl <0.001  <0.001 0.001 <0.001| <0.001 <0.001

~ v H v kRN E O A YW (mg/l) &Kl <0.001  <0.001 <0.001| <0.001  <0.001| <0.001

e SEH[ <0.0010 <0.001  <0.001| <0.001  <0.001  <0.001

B 14.8 11.0 11.0 13.9 15.7 12.8

by = L7 A 7 v (mg/L)  HAK 12.3 9.1 9.4 10.6 13.6 12.6

B SEH) 13.6 10. 0 10. 2 12.2 14.6 12.7

e 0.5 0.6 0.5 0.6 0.7 0.6

H H % W (ToC)  (mg/L) | ffk 0.5 0.5 0.5 0.5 0.6 0.6

S 0.5 0.6 0.5 0.6 0.6 0.6

B 7.62 7.57 7.60 7.62 7.64 7.59

pH i A% 7.58 7.53 7.57 7. 60 7.62 7.56

SEH) 7. 60 7.55 7.58 7.61 7.63 7.58

IS WL BEel BRERL BRE2LU BRERL BEL

R = Harie U B U Bae L BEe U B L B L

b d <0.5 <0.5 <0.5 <0.5 <0.5 <0.5

B () K 0.5 0.5 0.5 <0.5 0.5 0.5

5] <0.5 <0.5 0.5 <0.5 0.5 <0.5

B <0.01 0. 02 0. 02 <0.01 0.01 0.01

b} B &K <0. 01 0.01 0. 02 <0.01 <0. 01 <0.01

SEH) <0. 01 0. 02 0. 02 <0. 01 <0. 01 <0. 01

éfﬁ i 0. 82 0. 81 0.74 0.75 0.76 0.75

| Hie b5 ® i) F (mg/L) | HIK 0.75 0.71 0.70 0. 63 0.65 0. 65

B Ty 0.78 0.76 0.72 0. 69 0.70 0. 70

i B 0. 86 0. 83 0.79 0. 80 0. 80 0.79

n | ® b= F (mg/L) | &K 0.79 0.76 0.74 0. 67 0. 69 0.72

2 FH) 0. 82 0. 80 0.76 0.74 0. 74 0.76

SE B % (Km0, W & & ) (mg/L) 0.6 0.7 0.3 0.4 0.8 0.4

B 18. 1 21.9 25. 4 29. 3 32.7 28.8

7K R (O |HIK 17.3 20. 3 22.5 27.8 29.8 28. 4

SEH) 17.7 21.1 24.0 28. 6 31.2 28.6

i 36. 4 32.8 36.5 37.2 36. 2 36.0

IV i) ) B (mg/L) | fefik 32.3 30. 8 33.4 34. 4 36. 1 34.9

- 5] 34. 4 31.8 35.0 35.8 36. 2 35. 4

[ E  (mg/L) 2.3 2.2 2.0 2.7 2.6 2.2

it [53 HE = # (mg/L) 1.01 0.81 0. 50 0.63 0. 80 0.88

i |t [ A B > (mg/L) 18.4 18. 1 15. 4 16. 2 21.8 18.2

B ¥ Y A FE O (mg/L) 30 26 27 28 29 29

~ 7 x ¥ v A fH E (ng/L) 8 7 8 9 9 9

- i 18.2 15.5 16.4 17.7 18.5 17.1

~|E = & s R mS/m) | FK 15.7 14.6 14.2 15. 4 17.1 16.9

S 17.0 15.0 15.3 16.6 17.8 17.0

b 1 fir2 # (mg/L) 9.5 8.6 8.5 6.5 7.9 6.8

H i 0.023 0.023 0. 021 0. 021 0.024  0.020

S 4t fio 4 o i3 K 0. 020 0.016 0.016 0.017 0. 022 0.017

S| 0.022 0.020  0.018 0.019/  0.023 0.018

L K oo~ v v v B (ng/L) 0.022 0.010 0.018 0.013 0. 037 0.033

WO omooE (B E ) (mg/l) <0.001| <0.001| <0.001| <0.001 0.001 0.001
7 U 7 b A2 KR U ¥ U A (&0 0 0
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10 11 12 1 2 3 [ %% = 54 (i S
0 0 0 0 0 0
0 0 0 0 0 0 24 0 0 0
0 0 0 0 0 0
24 - - -
<0.001 <0.001 <0.001] <0.001] <0.001 <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 24 <0.001 <0.001| <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001
<0.03]  <0.03] <0.03] <0.03  <0.03  <0.03
<0.03/ <0.03] <0.03  <0.03  <0.03  <0.03 24 <0.03  <0.03] <0.03
<0.03/ <0.03] <0.03  <0.03  <0.03  <0.03
<0.001 <0.001 <0.001] 0.002] <0.001 <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 24 0.002 <0.001| <0.001
<0.001 <0.001 <0.001|  0.001| <0.001  <0.001
15. 6 14.8 15.9 15. 7 16.5 13.8
14. 2 13.6 15.5 15.0 15.0 12.6 24 16.5 9.1 13.5
14.9 14.2 15.7 15. 4 15.8 13.2
0.7 0.8 0.9 0.8 0.8 0.8
0.6 0.7 0.8 0.8 0.8 0.7 24 0.9 0.5 0.7
0.6 0.8 0.8 0.8 0.8 0.8
7.63 7.60 7.52 7.58 7.58 7.57
7.57 7.55 7.51 7.52 7.53 7.56 24 7.64 7.51 7.58
7. 60 7.58 7.52 7.55 7.56 7.56
B U BE20 BEaU Bl Byl Byl 24 BERL
Farie U B U B U B U BE e L B L 24 B L
0.5 <0.5 0.5 <0.5 0.5 <0.5
0.5 0.5 0.5 0.5 0.5 0.5 24 0.5 0.5 0.5
0.5 <0.5 0.5 <0.5 0.5 <0.5
0.02]  <0.01 0.01 <0.01]  <0.01 0. 02
0.01 <0. 01 <0.01 <0. 01 <0.01 <0.01 24 0.02|  <0.01 <0.01
0.02| <0.01| <0.01 <0.01  <0.01 0.01
0.81 0.78 0.78 0.76 0.78 0.77
0. 74 0.74 0.72 0.75 0.78 0.72 24 0.82 0.63 0.74
0.78 0.76 0.75 0.76 0.78 0.74
0.85 0.83 0.82 0. 81 0. 84 0.83
0. 80 0. 80 0.78 0.79 0.82 0.76 24 0. 86 0. 67 0.79
0. 82 0.82 0. 80 0. 80 0.83 0. 80
0.7 0.9 0.8 1.1 1.4 1.0 12 1.4 <0.3 0.7
23.1 20.9 13.1 10. 6 11.8 12.1
21.8 15.0 11.1 10.0 .9 11.2 24 32.7 8.9 19. 7
22. 4 18.0 12.1 10. 3 10. 4 11.6
36.2 38.0 38.8 37.6 37.6 34.0
35. 1 37.6 37.6 37.3 37.3 32.8 24 38.8 30. 8 35.7
35.6 37.8 38.2 37. 4 37.4 33.4
3.1 2.8 2.5 3.5 3.5 2.8 12 3.5 2.0 2.7
1.03 0.96 1. 06 1.06 1.19 1.17 12 1.19 0. 50 0.92
18.8 19.1 19. 1 18.0 19.7 18.2 12 21.8 15. 4 18. 4
30 31 32 33 33 31 12 33 26 30
9 9 10 10 9 9 12 10 7 9
18.3 18.1 18.6 18.4 18.1 17.6
17.7 17.6 18.4 17.6 18.0 16.5 24 18.6 14. 2 17.2
18.0 17.8 18.5 18.0 18.0 17.0
8.3 8.7 10.7 11.8 11.2 11.4 12 11.8 6.5 9.2
0.023  0.028] 0.027| 0.033 0.029  0.034
0.020/  0.020/ 0.024  0.029  0.029  0.028 24 0.034  0.016] 0.024
0.022]  0.024) 0.026  0.031 0.029|  0.031
0.024) 0.016] 0.013] 0.016/ 0.016/  0.026 2] 0.037  0.010  0.020
<0.001 <0.001 <0.001] 0.001] <0.001 <0.001 12| 0.001] <0.001 <0.001
0 0 4 0 0 0
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FRIRHA K R fa KR K (£ 2)

4 5 6 7 8 9
HH
BRI ALK OTZEOILA Y (mg/L) <0. 0003 <0.0003| <0.0003| <0.0003 <0.0003 <0.0003
K OB E O F o b A& ¥ (mg/L) <0. 00005 | <0. 00005 <0. 00005 <0. 00005 <0. 00005 <0. 00005
L v kK O 0t A& W (mg/l) <0.001  <0.001 <0.001| <0.001 <0.001| <0.001
E % K O 2 o b A& ¥ (mg/L) <0.001| <0.001 <0.001 <0.001 <0.001  <0.001
N iy o w o A b A W (mg/L) <0.002 <0.002 <0.002| <0.002 <0.002| <0.002
i Lzl [i73 e = # <0.004| <0.004 <0.004| <0.004 <0.004| <0.004
v T e Aty ROy 7 v (mg/l) <0.001  <0.001 <0.001| <0.001 <0.001| <0.001
i BE RE 2 & K& OV A B B &= R (mg/L) 1.01 0.81 0. 50 0.63 0. 80 0.88
7 v #F Kk O O A W (meg/l) <0. 08 0. 08 0. 08 0.10 0.10 0.10
A v FE KX E O E W (ng/L) <0.1 <0.1 <0.1 <0.1 <0.1 0.1
] iy 1k Jod # (mg/L) <0. 0002 <0.0002| <0.0002| <0.0002 <0.0002 <0.0002
L4 - ¥ A X ¥ (mg/L) <0.005  <0.005 <0.005/ <0.005 <0.005 <0.005
L;?l’zZQ,?f,‘:;‘:’fu'j'; ; {3/29 (mg/L) <0.004 <0.004 <0.004| <0.004 <0.004| <0.004
w1y 7 = =R & v (mg/L) <0.002  <0.002 <0.002| <0.002 <0.002| <0.002
> N % 7/ v v = F L ¥ (ng/l) <0.001  <0.001 <0.001| <0.001 <0.001| <0.001
YU 2 v omr T F L v (mg/l) <0.001 <0.001  <0.001| <0.001 <0.001| <0.001
s N + > (mg/L) <0.001  <0.001 <0.001| <0.001 <0.001| <0.001
% i = B4 (mg/L) <0. 06 0. 09 0.10 0.10 0.07 0. 08
Vi = = fiE e (mg/L) <0.002 <0.002 <0.002| <0.002 <0.002| <0.002
7 =t = MR v 2 (mg/L) 0. 002 0. 002 0. 004 0. 004 0. 007 0. 004
il D Vi = = L3 iz (mg/L) <0.003 <0.003 <0.003| <0.003 <0.003| <0.003
Y 7 v ® 7 v e A % v (gl 0. 003 0. 004 0. 003 0. 004 0.010 0. 006
" ES iz (mg/L) 0. 001 0.003 0.002|  0.005 0.004|  0.006
W N U N v A X v (mg/L) 0. 008 0. 009 0.011 0.013 0. 029 0.017
H Ik ] Vi 2 v fE O (ng/L) <0.003 <0.003 <0.003| <0.003 <0.003| <0.003
7 v £ ¥ 7 v u A % ¥ (ng/l) 0. 003 0. 003 0. 004 0. 005 0. 009 0. 006
7 = * 7 JL 2 (mg/L) <0.001 <0.001| <0.001  <0.001 0. 003 0.001
A v A 7 A F v K (ng/L) <0.008  <0.008 <0.008 <0.008 <0.008| <0.008
Mmoo &k O o kb A& W (meg/l) <0. 1 0. 1 <0. 1 0.1 <0. 1 0. 1
TN =0 AKROZEOAEY (ng/L) 0. 02 0. 02 0. 02 0.03 0. 04 0.03
i Kk O = o b & W (mg/L) <0. 1 <0.1 <0. 1 <0.1 <0. 1 <0.1
F bV T A KOREODOAAE Y (ng/L) 13.6 13.3 11.2 13.3 17.3 15.3
AN T L TRV NE () (ng/L) 38 33 35 37 38 38
7K B 53 4 ¥ (mg/L) 90 85 70 79 112 83
e 4 4 v A om E M Al (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
D4 e 7+ A 2 > (ng/L) <1 <1 <1 <1 <1 <1
2- XA F A4 VAL R A — ) (ng/l) <1 <1 <1 <1 <1 <1
F 4 A& v om W M Al (mg/L) <0.005/ <0.005 <0.005 <0.005 <0.005 <0.005
7 - Vi — L ¥H (mg/L) <0. 0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
T FEUVEOZEDONAEYW (ng/L) <0. 002 <0. 002
v 7 v Kk O ZE O kA& W (g/l) <0. 0002 <0. 0002
= v N kT ZE oA Y g/l <0. 002 <0. 002
,2- ¥ 4 mvm u =x= % ¥ (mg/L) <0. 0004 <0. 0004
S L - > (mg/L) <0. 04 <0. 04
T ENLEEY Q- FL~F L) (mg/L) <0. 008 <0. 008
& |m # % i (mg/L) <0. 06 <0. 06
Bl 7 v g 7% K= F U A (g/l) <0. 001 <0. 001
Eﬁ ook 7 v 5 — b (mg/l) <0. 002 <0. 002
u;r; J- 3 E'S 3 <1 <1
= [ At 1774 % (mg/L) 2.0 19 1.8 2.4 2.3 1.9
H|LLI- F U 7 v owr = & ¥ (ng/l) <0. 03 <0. 03
H|AF V-t-7 F = —F L MBE) (mg/L) <0. 002 <0. 002
" B G E (TON) 1 1 1 1 1 1
5 v F Y V- ¢ -1.3 -1.4 -1.3 -1.2 -1.0 -1.3
1€ & x* & A (CFU/m1) 0 0
L1 — Y 27 v o =xF L v (gl 0. 01 <0. 01
e . I
R ARy S s (o) 5 <5
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10 11 12 1 2 3 [A1%% =] AR RSS)
<0.0003 <0.0003 <0.0003| <0.0003| <0.0003 <0.0003 12| <0.0003| <0.0003 <0.0003
<0. 00005| <0. 00005| <0. 00005 <0. 00005 <0. 00005 <0. 00005 121 <0. 00005 <0. 00005 <0. 00005
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001 <0.001
<0.001 <0.001] <0.001| <0.001 <0.001| <0.001 12)  <€0.001  <0.001  <0.001
<0.002  <0.002/ <0.002| <0.002| <0.002 <0.002 12| <0.002| <0.002 <0.002
<0.004 <0.004 <0.004| <0.004| <0.004  <0.004 12]  <€0.004 <0.004  <0.004
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001 <0.001

1.03 0.96 1.06 1.06 1.19 1.17 12 1.19 0.50 0.92

0. 10 0. 10 0.09 0. 08 0.08|  <0.08 12 0.10/ <0.08  <0.08

0.1 <0.1 0.1 <0.1 0.1 <0.1 12 <0.1 0.1 <0.1
<0.0002 <0.0002 <0.0002| <0.0002 <0.0002 <0.0002 12| <0.0002| <0.0002 <0.0002
<0.005 <0.005 <0.005| <0.005 ~<0.005 <0.005 12]  <€0.005  <0.005  <0.005
<0.004 <0.004 <0.004| <0.004| <0.004  <0.004 12/ <0.004 <0.004  <0.004
<0.002  <0.002 <0.002| <0.002/ <0.002  <0.002 12]  <€0.002  <0.002  <0.002
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001 <0.001
<0.001 <0.001] <0.001| <0.001 <0.001| <0.001 12)  <€0.001  <0.001  <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001 <0.001

0.09] <0.06] <0.06  <0.06  <0.06  <0.06 12 0.10| <0.06  <0.06
<0.002  <0.002/ <0.002| <0.002| <0.002 <0.002 12| <0.002| <0.002 <0.002

0.004)  0.002] 0.001  0.001  0.001 <0.001 12)  0.007 <0.001  0.003
<0.003 <0.003 <0.003| <0.003| <0.003 <0.003 12| <0.003| <0.003  <0.003

0.006/  0.005  0.004  0.003  0.004  0.003 12/ 0.010  0.003  0.005

0.006/ 0.003 0.002 0.001  0.002 0.002 12| 0.006] 0.001  0.003

0.018/  0.013] 0.009  0.007  0.009  0.005 120 0.029  0.005  0.012
<0.003 <0.003 <0.003| <0.003| <0.003 <0.003 12| <0.003| <0.003  <0.003

0.006/  0.004) 0.003  0.002  0.003  0.002 120 0.009  0.002  0.004

0.002| 0.002  0.001  0.001  0.001| <0.001 12| 0.003| <0.001 <0.001
<0.008 <0.008 <0.008| <0.008 <0.008  <0.008 12]  <€0.008  <0.008  <0.008

<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1

0.03 0.02 0.03 0.02 0.02 0.02 12 0. 04 0.02 0.02

<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1

15.7 16. 2 15.7 14.6 17.0 15.1 12 17.3 11.2 14.9

39 40 42 43 42 40 12 43 33 39

103 105 111 101 109 106 12 112 70 96
<0.02] <0.02] <0.02  <0.02  <0.02  <0.02 12| <0.02] <0.02  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005 <0.005 <0.005| <0.005 ~<0.005 <0.005 12]  <€0.005  <0.005  <0.005
<0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12| <0.0005/ <0.0005 <0.0005
<0. 002 <0. 002 4] <0.002] <0.002  <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002 <0.0002
<0. 002 <0. 002 4] <0.002] <0.002  <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004 <0.0004
<0. 04 <0. 04 4, <0.04) <0.04  <0.04
<0. 008 <0. 008 4 <0.008 <0.008  <0.008
<0. 06 <0. 06 4, <0.06] <0.06  <0.06
<0. 001 <0. 001 4] <0.001 <0.001 <0.001
<0. 002 <0. 002 4] <0.002] <0.002  <0.002
<1 <1 4 <1 <1 <1
2.7 2.5 2.2 3.1 3.1 2.5 12 3.1 1.8 2.4

<0. 03 <0.03 4, <0.03] <0.03  <0.03
<0. 002 <0. 002 4] <0.002] <0.002  <0.002
1 1 1 1 1 1 12 1 1 1

-1.2 -1.2 -1.4 -1.4 -1.4 -1.4 12 -1.0 -1.4 -1.3
0 0 4 0 0 0
<0.01 <0.01 4, <0.01)  <0.01 <0.01

5 6 4 6 <5 <5
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il 2K 35 % e K A K

(D 3) 3

- /] 5 7 10 2 % REm | RIE T
1,3—Y7uurua~r (D—D) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005  <0.0005  <0.0005
22 —DPA (X Z7 &K ) (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0002|  <0.0002  <0.0002  <0.0002 4] <0.0002]  <0.0002  <0.0002
E =2 N (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003  <0.0003
T ¥ = 7 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 * 7 Ed — ~ (mg/L) <0.0008|  <0.0008  <0.0008  <0.0008 4, <0.0008| <0.0008  <0.0008
7 K V Y > (mg/L) <0.0001,  <0.0001| <0.0001  <0.0001 4, <€0.0001| <0.0001| <0.0001
7 = o N Z (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <€0.00005 <0.00005 <0.00005
T N b Va X (mg/L) | <0.0003 ~ <0.0003  <0.0003  <0.0003 4| <0.0003|  <0.0003  <0.0003
T = 7 = — b (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4] <0.0003  <0.0003  <0.0003
A4 Y F ¥ F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = v & A (mg/L)| <€0.00003 <0.00003 <0.00003 <0.00003 4| <€0.00003 <0.00003 <0.00003
A4 7ma B )7 (MIPC) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001 4/ <0.0001| <0.0001|  <0.0001
Ay 7TuauF A7 (IPT) (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A 7 7 = v BN Y v (ng/L)

A4 7 XK A(IBP) (mg/L) <0.0009  <0.0009|  <0.0009  <0.0009 4/ <0.0009  <0.0009  <0.0009
A4 X 7 7 & ¥ (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006/ <0.00006 <0.00006
A4 v X ) 7 7 v (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4 <0.00009| <0.00009 <0.00009
= X 7 v H N 7 (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003  <0.0003
™ N7 =z v 7 vy 7 A (ng/L) <0.0008  <0.0008/  <0.0008  <0.0008 4/ <0.0008  <0.0008  <0.0008
TURANL T 7 (R YY) (mg/L) <0.0001| <0.0001  <0.0001  <0.0001 4| <0.0001 <0.0001  <0.0001
F X % ¥ 7 o A K v (ng/l) <0.0002|  <0.0002  <0.0002  <0.0002 4] <0.0002]  <0.0002  <0.0002
F X > 8 (A # 81 ) (mg/L) <0.0004,  <0.0004|  <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
4+ UV ¥+ 2 b v v v (mg/l)

Vi) z A TN Z (mg/L) | €0. 000006 <0.000006 <0.000006 <0.000006 4| <0. 000006 <0. 000006 <0.000006
J1 7 = v A h m — Jb (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4 <0.00008| <0.00008 <0.00008
i) 1% i % 7 (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
By NY L (N A C) (mg/l) <0.0003|  <0.0003  <0.0003  <0.0003 4/ <0.0003  <0.0003  <0.0003
Vi) U IR 7 7 > (mg/L) | €0.000003| <0.000003 <0.000003 <0.000003 4| <0.000003| <0. 000003/ <0.000003
¥ /7 732 (A CN ) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
e X - il v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
7 N JL = > (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4] <0.0003  <0.0003  <0.0003
7 D) N VA — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7o & ¥ 3% — b (mg/L) <0.0002  <0.0002  <0.0002  <0.0002 4] <0.0002]  <0.0002  <0.0002
7 wm A 7 v v 7 (ng/L) <0.0002|  <0.0002  <0.0002  <0.0002 4| <0.0002]  <0.0002  <0.0002
san=rr 7=z (CNP) (mg/L) <0.0001 <0.0001  <0.0001  <0.0001 4] <0.0001  <0.0001  <0.0001
7 m b B U A& A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
/muZna=,)L (TPN) (m/L) <0.0005  <0.0005  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
D4 7 7+ X > (mg/L) | <0.00001 <0.00001 <0.00001 <0.00001 4| <0.00001| <0.00001 <0.00001
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v rvmr Y (DCMU) (mL <0.0002|  <0.0002  <0.0002  <0.0002 4| <0.0002]  <0.0002  <0.0002
v ma~X=)(DBN) (mgL) <0.0003|  <0.0003  <0.0003  <0.0003 4] <0.0003  <0.0003  <0.0003
Y rzu )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
D2 7 U > F (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4/ <0.0001| <0.0001| <0.0001
ANV (mF L F A AR ) (mg/L) | <0.00004 <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
CF A BN NRA— R I (ng/L)

2 SF 7 = JL (mg/L) | <0.00009, <0.00009| <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
oo nm R oy 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4 <0.00006/ <0.00006 <0.00006
> v ¥ v (C A T ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
oA 2 A b U v (mg/L) <0.0002  <0.0002| <0.0002  <0.0002 4, <0.0002| <0.0002|  <0.0002
D2 A k - — ~ (mg/L) <0.0005  <0.0005/  <0.0005  <0.0005 4| <0.0005  <0.0005  <0.0005
v A k Pj v (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4] <0.0003  <0.0003  <0.0003
vl A T X J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A A o v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
AN ARE(T—35) g Y (mg/L)

AFNAYFALT =}
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- /] 5 7 10 2 % REm | RIE T

VA T v = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ v = 2 (mg/L) | <0.0002| <0.0002) <0.0002|  <0.0002 4| <0.0002]  <0.0002  <0.0002
F  F ¥ F o 7 (mg/L)]| <0.0008 <0.0008  <0.0008  <0.0008 4/ <€0.0008  <0.0008  <0.0008
F A 7 73— b AF L (mg/) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F 4 X v 7 (mg/L)| <0.0002 <0.0002 ~ <0.0002  <0.0002 4/ <0.0002  <0.0002  <0.0002
7> 7 U kU F » (mg/L)| <€0.00002 <0.00002 <0.00002| <0.00002 4, <0.00002| <0.00002| <0.00002
FHUT AT (MBPMC) (mg/L)| <0.0002) <0.0002  <0.0002  <0.0002 4] <0.0002| <0.0002  <0.0002
k ) 7 = = JL (mg/L) | <0.0003  <0.0003| <0.0003  <0.0003 4| <0.0003|  <0.0003  <0.0003
FUZ7wa k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4] <0.0002]  <0.0002  <0.0002
kU Yy T — L (mg/L) <0.001 <0.001 <0.001 <0.001 4 <0. 001 <0. 001 <0. 001
Uo7 Z U (mg/L) <0.0006  <0.0006/ <0.0006  <0.0006 4/ <0.0006  <0.0006  <0.0006
A 7 = /N =} K (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003|  <0.0003  <0.0003
% a o — F (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <€0.00005 <0.00005 <0.00005
= ~ = ViN Z (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
| 7 = = Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001  <0.0001  <0.0001
27 Y Xx ¥ 7 = v (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004 <0.00004
IV YR —k (YL —R) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4] <0.0002]  <0.0002  <0.0002
U X 7 = v F F o (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
v U 7 F H L 7 (mg/L)| <0.0002] <0.0002  <0.0002  <0.0002 4/ <0.0002  <0.0002  <0.0002
=5 = S = > (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005  <0.0005  <0.0005
7 “® 7 & = L (mg/L) | <0.000005 <0.000005 <0.000005 <0.000005 4| <0. 000005 <0. 000005 <0.000005
Zx=bruaF At (MEP) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001 4/ <0.0001  <0.0001  <0.0001
T2 /)7 N7 (BPMC) (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4/ <0.0003  <0.0003  <0.0003
7 = ) U V' > (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005  <0.0005  <0.0005
7 v F 4 (MP P ) (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006/ <0.00006 <0.00006
7 =z b= — Kk (PAP) (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b 7 ¥ I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001  <0.0001  <0.0001
7 Va 7 A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 X 7 = — Jb (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4/ <0.0003  <0.0003  <0.0003
7 v g i Z (mg/L) | <0.0002/ <0.0002  <0.0002  <0.0002 4| <0.0002  <0.0002|  <0.0002
7 7 v 7 x ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4] <0.0002]  <0.0002  <0.0002
= v 7 ¥ A 2 (mg/L) <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003  <0.0003
7 v F 7 7 v — 1 (ng/l) <0.0005|  <0.0005  <0.0005 ~ <0.0005 4, <€0.0005  <0.0005  <0.0005
- =i ¥ =4 R > (mg/L) <0.0009,  <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009|  <0.0009
7 n F A A& A (mg/L)| <0.00007 <0.00007| <0.00007 <0.00007 4| <€0.00007| <0.00007  <0.00007
7 v v 2 5 v — ) (mg/L) <0.0005 ~ <0.0005  <0.0005  <0.0005 4 <0.0005| <0.0005 ~ <0.0005
v = =4 A 2 K (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
7 mm X F v — L (mg/L) <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003  <0.0003
7 =i = 7 va K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 3 JL (mg/L) | <0.0002)  <0.0002| <0.0002  <0.0002 4| <0.0002]  <0.0002  <0.0002
~ o7 o > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y B ¥ 7 m v (mg/L)| <0.0009 <0.0009 ~ <0.0009  <0.0009 4/ <0.0009  <0.0009  <0.0009
N v Y 7 = F w7 (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005 4| <€0.00005 <0.00005 <0.00005
~ N i v > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KU v (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
N v 7 7 A v 7 (mg/l) <0.0002  <0.0002| <0.0002  <0.0002 4 <0.0002| <0.0002| <0.0002
Ry (X2 2) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4/ <0.0001| <0.0001| <0.0001
~ v 7 L ' — b (mg/L) <0.0007,  <0.0007  <0.0007  <0.0007 4 <0.0007| <0.0007  <0.0007
A~ A F 7 ¥ — bk (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ 7 F A+ v (~ TV ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
AXa7Fnuay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
A Y g JL (mg/L) <0.0003|  <0.0003|  <0.0003  <0.0003 4| <0.0003|  <0.0003  <0.0003
A vd 7 ¥ v b (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AFZF 4 (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004 <0.00004 <0.00004
A F I 7 A b B B ¥V (g <0.0004,  <0.0004|  <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
A k ) 7 Y > (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003|  <0.0003  <0.0003
A 7 = F v b (mg/L) <0.0002  <€0.0002| <0.0002  <0.0002 4] <0.0002| <0.0002| <0.0002
A 7 o = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
= U b — F (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <€0.00005 <0.00005 <0.00005
=3 3K E) <1 <1 <1 <1 4 <1 <1 <1
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3) BRApKIELRER Rk KSR K ERK
Jel R Y R G AR K

H
oy 4 5 6 7 8 9
(e 0 0 0 0 0 0
— ik # B (Cru/ml)  fK 0 0 0 0 0 0
STy 0 0 0 0 0 0
b4
x i} FAX
N2 = = = = = =
&l <0.001] <0.001 <0.001 <0.001 <0.001  <0.001
M Ok O F o b & W (mg/L) &IE| <0.001 <0.001 <0.001 <0.001 <0.001  <0.001
SEHJ| <0.001]  <0.001)  <0.001| <0.001| <0.001| <0.001
b a) <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 0. 03
g% &k O £ o b A& ¥ (ng/L) FEA&| <0.03 <0.03 <0. 03 <0.03 <0. 03 <0.03
SEH <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
#* &l <0.001] <0.001  <0.001 <0.001 <0.001  <0.001
~ v H kO EOAE W  (ng/L) K|l <0.001] <0.001 <0.001| <0.001  <0.001  <0.001
e SEHJ| <0.001]  <0.001)  <0.001| <0.001] <0.001| <0.001
b a) 16. 8 11.7 11.7 14.7 15.8 14.2
B ok ® A 7 v (mg/L) HAK 13.6 6.3 9.3 10. 4 5.3 12.4
= SEH 15.0 9.8 10. 6 11.6 14.0 13.2
Fem 0.9 0.8 0.7 0.8 0.8 0.8
R 1% L7 (ToC)  (mg/L) A 0.8 0.8 0.6 0.6 0.7 0.7
R 0.8 0.8 0.6 0.7 0.8 0.7
a) 7.63 7.66 7. 64 7.76 7.80 7.72
pH i AKX 7.53 7.50 7.55 7.54 7.52 7.47
SEH 7.57 7.56 7.58 7.60 7.62 7.54
IS BERUIREZL Byl BELL BEelL Byl
= B L BE R U B L B L B L B
B <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
53 (B) | ik <0.5 0.5 <0.5 0.5 0.5 0.5
ST <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
b a) 0. 02 <0. 01 0. 02 0. 02 0. 02 0.01
¥ B (B) | FA&|  <0.01 <0. 01 <0.01 <0. 01 <0.01 <0. 01
SEH <0.01 <0. 01 <0.01 <0. 01 <0.01 <0. 01
iﬂ% B 0.79 0.81 0. 82 0. 82 0.84 0. 82
w0 OHE & W R O g/l RIK 0.55 0.61 0.63 0.56 0. 36 0.54
E bR 0. 69 0.75 0.76 0.75 0.70 0.73
= B 0. 84 0. 90 0.87 0.89 0.88 0.85
B | ® iy #  (mg/L) &K 0. 63 0. 68 0. 67 0.61 0. 42 0.59
% SEH 0.75 0. 82 0.81 0. 80 0.75 0.78
TE B S Ko, T & B ) (mg/L) 0.8 0.9 0.4 0.7 0.8 0.6
a) 19. 4 22.5 25.8 29.7 32.7 30. 8
K iR (C) &A% 17. 1 20.0 22.9 28.0 26. 8 27.9
SEH 17.8 21.3 24. 3 28. 7 30. 5 29. 8
B 36.0 34.2 36. 2 35.0 36.5 34. 4
7 v i) ) & (mg/L) H&IK 32.2 20.8 31. 4 32.8 27.5 31.3
- ST 34.2 29.9 33.7 33.9 32.6 32.8
[ B (mg/L) 2.7 2.2 1.9 2.6 3.0 1.9
it [ HE S #  (mg/L) 1.01 0.82 0.50 0.57 0.77 0.81
i |Bit [ A 25 > (mg/L) 18.0 20. 4 14.8 15.0 22.5 21.9
v vy A O E (mg/L) 30 23 26 29 29 30
~ J 3 ¥ u A~ i FE  (ng/l) 8 6 8 9 9 9
B 18.3 15.8 15.8 18.0 18.6 18.1
g = & e o (mS/m) | K 16.3 12.4 14.0 14.7 12.9 16.7
R 17.5 14.6 14.8 15.7 16.0 17.5
% 17 i %  (mg/L) 10. 6 10.5 9.6 8.3 8.8 8.0
H B 0.040/  0.033 0.030/  0.028 0. 037 0. 030
®OO4 B OW bl 53 L[ 0.033 0. 031 0.017  0.022 0. 025 0. 024
STy 0.036/  0.032 0.024)  0.025 0.030  0.027
S H K o~ v F v ¥ E  (ng/l) 0. 034 0.025 0.018 0.019 0. 032 0. 058
Ok oo E (B’ OE ) g/l 0. 001 0.001  <0.001 0.001 0.001 0.001
7 UV 7k A AR U ¥ oy A (f#/20L) 0 0
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10 11 12 1 2 3 [E %% = 54 i S
0 0 0 0 0 0
0 0 0 0 0 0 48 0 0 0
0 0 0 0 0 0
48 - - -
<0.001 <0.001 <0.001] <0.001] <0.001 <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 48 <0.001  <0.001| <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001
<0.03]  <0.03] <0.03] <0.03  <0.03  <0.03
<0.03/ <0.03] <0.03  <0.03  <0.03  <0.03 48 <0.03  <0.03] <0.03
<0.03/ <0.03] <0.03  <0.03  <0.03  <0.03
<0.001 <0.001 <0.001] <0.001] <0.001 <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 48 <0.001  <0.001| <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001
15. 6 15. 6 16.5 16.0 17.3 14. 4
12.8 13.7 15.6 15. 2 15.1 8.0 48 17.3 5.3 13.6
14. 0 14. 6 16. 0 15.5 16.5 12.5
0.9 0.9 1.0 1.0 1.0 0.9
0.8 0.8 0.9 0.8 0.8 0.8 48 1.0 0.6 0.8
0.8 0.9 0.9 0.9 0.9 0.8
7.58 7.63 7. 60 7.64 7.56 7.62
7.49 7.52 7.54 7.54 7.52 7.51 48 7.80 7.47 7.57
7.54 7.56 7.56 7.58 7.54 7.55
B U BE20 BEaU BERL Byl Byl 48 BERL
Farie U B U B U B U BE e L B L 48 B L
0.5 <0.5 0.5 <0.5 0.5 <0.5
0.5 0.5 0.5 0.5 0.5 0.5 48 0.5 0.5 0.5
0.5 <0.5 0.5 <0.5 0.5 0.5
0. 02 0. 02 0. 02 0. 02 0.01 <0. 01
<0.01 <0.01 <0.01 <0.01 <0.01 <0.01 48 0.02|  <0.01 <0.01
<0.01 0.01|  <0.01 <0.01  <0.01 <0. 01
0.77 0.82 0.81 0.82 0.81 0. 81
0. 54 0.58 0.57 0. 62 0.63 0.59 48 0. 84 0. 36 0.73
0.70 0.74 0.72 0.73 0. 74 0.73
0.82 0. 88 0. 86 0. 88 0. 86 0.85
0. 60 0.63 0. 66 0. 67 0. 68 0. 67 48 0.90 0. 42 0.78
0.76 0. 80 0.78 0.78 0. 80 0.79
0.8 1.2 1.0 1.2 1.4 1.0 12 1.4 0.4 0.9
29. 1 20.8 14. 2 12.9 12.6 13.6
20.3 15.0 12.0 9.4 10. 2 10. 8 48 32.7 9.4 20. 1
23.8 19.0 13.0 10. 6 11.1 11.7
35.3 37. 1 39.0 36.9 37.0 35. 4
32.4 34.6 37.2 34.8 34.9 24.9 48 39.0 20.8 34.2
34.1 36. 2 38.2 36.3 36.2 31.8
3.5 2.3 3.2 2.3 3.8 3.0 12 3.8 1.9 2.7
1.09 0.96 1.02 1.05 1. 17 1.19 12 1.19 0. 50 0.91
19. 2 18.3 19. 0 17.2 19. 2 17.4 12 22.5 14.8 18.6
30 31 33 33 34 32 12 34 23 30
9 9 10 9 10 9 12 10 6 9
17.9 17.8 18.9 18.2 18.8 17.5
17.1 17.3 18.3 17.5 17.8 16.3 48 18.9 12.4 16.9
17.6 17.6 18.6 17.8 18.5 17.0
9.6 9.7 10. 4 12.4 12.8 12.6 12 12.8 8.0 10. 3
0.037) 0.038] 0.040/ 0.038  0.039  0.037
0.032] 0.029 0.032  0.035  0.034| 0.021 48 0.040  0.017|  0.032
0.034/ 0.032] 0.036  0.036  0.036  0.030
0.031] 0.024] 0.020 0.031 0.022] 0.027 12]  0.058  0.018  0.028
0.001|  0.001 0.001]  0.001 0.001|  0.001 12| 0.001] <0.001 <0.001
0 0 4 0 0 0
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3) BRApKIELRE Rl KSR K ERK

ETRE S EN G0N

A

S 4 5 6 7 8 9
BRIV LK OZEOIEY (ng/l) <0. 0003 <0.0003| <0.0003| <0.0003 <0.0003| <0.0003
KB\ KR O ZE O b A B (mg/l) <0. 00005 | <0. 00005 | <0. 00005 | <0. 00005 | <0. 00005 | <0. 00005
L kO E DA W (ng/l) <0.001 <0.001| <0.001| <0.001  <0.001  <0.001
tE EF L O F 0 b A& W (ng/L) <0.001| <0.001 <0.001 <0.001  <0.001  <0.001
AN i 7 v A b & W (mg/L) <0.002  <0.002| <0.002| <0.002 <0.002| <0.002
iR i 73 i = #  (mg/L) <0.004| <0.004 <0.004| <0.004  <0.004| <0.004
sT Ul AA Y RO LY T (mg/L) <0.001 <0.001| <0.001| <0.001 <0.001  <0.001
HAEREER L OHEMmEEESR (ng/L) 1.01 0.82 0. 50 0.57 0.77 0.81
7 v FZF K X DO AEW (ng/l) <0. 08 <0. 08 <0. 08 0.10 0.10 0. 09
w7 FE R RXE O E W (mg/L) 0.1 <0. 1 0.1 <0. 1 <0.1 <0.1
| by {t. 5 # (mg/L) <0. 0002 <0.0002| <0.0002| <0.0002 <0.0002 <0.0002
L4 — ¥ A X ¥ (mg/l) <0.005  <0.005| <0.005/ <0.005 <0.005 <0.005
f; :1%27_1";7/‘:’7‘3;;;; 1}3/29 (mg/L) <0.004 <0.004 <0.004 <0.004 <0.004 <0.004

wl¥ 7 wowm A x v (mg/l) <0.002  <0.002| <0.002| <0.002 <0.002| <0.002
> % 7 m e = F L v (mgl) <0.001 <0.001| <0.001| <0.001  <0.001  <0.001
kU 7 v e x F L v (ngl) <0.001  <0.001| <0.001| <0.001  <0.001  <0.001

e N + > (mg/L) <0.001 <0.001| <0.001| <0.001 <0.001  <0.001

1 |1 = B (mg/L) 0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06
Vi = = W g (mg/L) <0.002  <0.002| <0.002| <0.002 <0.002| <0.002
7 =t = IR I 2 (mg/L) 0. 003 0. 005 0. 004 0. 006 0. 006 0. 008

g | ¥ Y = = e B (mg/L) <0.003 0.003 <0.003 <0.003 <0.003 0. 004
v 7 o w7 unw A % v (ng/l) 0. 003 0. 004 0. 003 0. 004 0. 007 0. 008
= ES g (mg/L) <0.001 <0.001 0. 001 0.002|  0.005 0. 002

H Wor U N om %z &Z v (mg/L) 0.010 0.013 0.011 0.016 0. 022 0. 026
I - = (74D <0.003  <0.003| <0.003| <0.003 <0.003| <0.003
7o ® Y /7 v u A X% 2 (mg/l) 0. 004 0. 004 0. 004 0. 006 0. 007 0. 009
7 = = A JL 2 (mg/L) <0.001, <0.001| <0.001  <0.001 0. 002 0. 001
A v A 7 L F b F (mg/l) <0.008  <0.008| <0.008| <0.008 <0.008| <0.008
Mok ™ ok A& W (ng/l) 0.1 <0. 1 0. 1 <0. 1 0.1 <0. 1
TNLVI=g LAk ORZEOLEY (mg/L) 0. 02 0.02 0.03 0. 05 0. 04 0.03
M Kk O = o 4k A& W (mg/l) <0.1 <0.1 <0.1 <0. 1 <0.1 <0.1
F RV TAKEREDOAL AW (ng/L) 14. 4 10.5 11.0 12. 4 17. 4 15.2
ANV YA TRy L% GEE) (ng/L) 38 29 34 38 38 39
75 7 5% o Y (mg/L) 96 75 80 90 107 108
ke o4 F v /A om & M Al (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
D% - 7+ 2 3 v (ng/L) <1 <1 <1 <1 <1 <1
2- XA F ) A VRNV FRF— I (ng/L) <1 <1 <1 <1 <1 <1
A A v R om E M A (mg/L) <0.005| <0.005  <0.005 <0.005  <0.005 <0.005
7 S J — v | (mg/L) <0. 0005/ <0.0005| <0.0005| <0.0005 <0.0005 <0.0005
TUoFEUCROZOALEY (mg/L) <0. 002 <0. 002
7 7 v kO E O AE W (ng/l) <0. 0002 <0. 0002
= v kT O E W (mg/l) <0. 002 <0. 002
L2- ¥ 7 v v == % > (ng/L) <0. 0004 <0. 0004
[N L - > (mg/L) <0. 04 <0. 04
TRENLEEY Q- F L ~F L) (mg/L) <0. 008 <0. 008

=il # F e (mg/L) <0. 06 <0. 06

B2 mwe7®b=*FUL (mgl <0. 001 <0. 001

Eﬁ fnok v w5 — n (wg/l) <0. 002 <0. 002

o [ ES el <1 <1

[ Bt R Fe  (mg/L) 2.4 1.9 1.7 2.3 2.6 1.7

HI|L,1,1- Y 72 v o2 &Z > (mg/L) <0. 03 <0. 03

HlxFr-t-7F 1 =—5 /L MBE) (mg/L) <0. 002 <0. 002
= 0 i g (TON) 1 1 1 1 1
72V ) B R - B -1.4 -1.5 -1.3 -1.2 -1.1 -1.0
e B x* #E A (CFU/ml) 4 0
L,1— Y27 v o= F L ¥ (gl <0.01 <0.01
A ™ e 7 i
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10 11 12 1 2 3 [A1%% = FAR RSS)
<0.0003 <0.0003 <0.0003| <0.0003 <0.0003 <0.0003 12| <0.0003| <0.0003 <0.0003
<0. 00005| <0. 00005| <0. 00005 <0. 00005 <0. 00005 <0. 00005 121<0. 00005 <0. 00005 <0. 00005
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001  <0.001
<0.001 <0.001] <0.001| <0.001 <0.001| <0.001 12]  <€0.001  <0.001  <0.001
<0.002  <0.002 <0.002| <0.002| <0.002  <0.002 12| <0.002| <0.002  <0.002
<0.004 <0.004 <0.004| <0.004| <0.004  <0.004 12]  <0.004 <0.004  <0.004
<0.001  <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001  <0.001

1.09 0.96 1.02 1.05 1.17 1.19 12 1.19 0. 50 0.91

0. 10 0. 10 0.10 0. 08 0.08|  <0.08 12 0.10/  <0.08  <0.08

0.1 <0. 1 0.1 <0. 1 0.1 <0. 1 12 <0. 1 0.1 <0. 1
<0.0002 <0.0002 <0.0002| <0.0002 <0.0002 <0.0002 12| <0.0002| <0.0002 <0.0002
<0.005 <0.005 <0.005| <0.005 ~<0.005  <0.005 12/ <€0.005  <0.005  <0.005
<0.004 <0.004 <0.004| <0.004| <0.004  <0.004 12/ <0.004 <0.004  <0.004
<0.002  <0.002] <0.002| <0.002/ <0.002  <0.002 12]  <€0.002  <0.002  <0.002
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001  <0.001
<0.001 <0.001] <0.001| <0.001 <0.001| <0.001 12]  <€0.001  <0.001  <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001  <0.001

<0.06/ <0.06/ <0.06  <0.06  <0.06  <0.06 12 0.06] <0.06  <0.06
<0.002  <0.002 <0.002| <0.002| <0.002  <0.002 12| <0.002| <0.002  <0.002

0.005  0.004| 0.003  0.004  0.003  0.003 12/ 0.008  0.003  0.004
<0.003  <0.003 <0.003| <0.003| <0.003  <0.003 12| 0.004| <0.003  <0.003

0.005  0.004| 0.003  0.005  0.003  0.002 2] 0.008  0.002  0.004

0.002|  0.001 <0.001  0.001 <0.001| <0.001 12| 0.005/ <0.001  0.001

0.016/ 0.014) 0.010  0.014  0.009  0.007 2] 0.026/  0.007  0.014
<0.003  <0.003 <0.003| <0.003| <0.003  <0.003 12| <0.003| <0.003  <0.003

0.006/  0.005/  0.004  0.005  0.003  0.002 2] 0.009  0.002  0.005
<0.001  0.001 <0.001| <0.001| <0.001  <0.001 12 0.002| <0.001 <0.001
<0.008  <0.008 <0.008| <0.008 <0.008  <0.008 12]  <€0.008  <0.008  <0.008

<0.1 <0. 1 <0.1 <0. 1 <0.1 <0. 1 12 <0. 1 <0.1 <0. 1

0.03 0.03 0.02 0.02 0.02 0.02 12 0.05 0.02 0.03

<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0.1 <0. 1

15.1 15.0 15.4 14.7 16.6 14.8 12 17.4 10.5 14. 4

39 40 43 42 44 41 12 44 29 39

97 105 110 102 102 106 12 110 75 98
<0.02]  <0.02] <0.02  <0.02  <0.02  <0.02 12| <0.02]  <0.02  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005 <0.005 <0.005| <0.005 ~<0.005 <0.005 12]  <€0.005  <0.005  <0.005
<0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12| <0.0005| <0.0005 <0.0005
<0. 002 <0. 002 4] <0.002] <0.002 <0.002
<0. 0002 <0. 0002 4] <0.0002| <0.0002 <0.0002
<0. 002 <0. 002 4] <0.002] <0.002  <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004 <0.0004
<0. 04 <0. 04 4] <0.04] <0.04  <0.04
<0. 008 <0. 008 4] <0.008 <0.008  <0.008
<0. 06 <0. 06 4, <0.06] <0.06  <0.06
<0. 001 <0. 001 4] <0.001| <0.001 <0.001
<0. 002 <0. 002 4] <0.002| <0.002  <0.002
<1 <1 4 <1 <1 <1

3.1 2.0 2.8 2.0 3.3 3.1 12 3.3 1.7 2.4

<0. 03 <0. 03 4/ <0.03] <0.03  <0.03
<0. 002 <0. 002 4] <0.002| <0.002  <0.002
1 1 1 1 1 1 12 1 1 1

-1.3 -1.3 -1.4 -1.3 -1.4 -1.4 12 -1.0 -1.5 -1.3
0 0 4 4 0 1
<0.01 <0.01 40 <0.01|  <0.01 <0.01

7 <5 4 7 <5 5
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JelRF kG Rfka ARk (20 3) B3R

/ 5 7 10 2 EE Rm | RE T
HH
1,3—y7uu7raX (D—D) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22—DPA (X 7&K ) (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D ( 24 — P A ) (mg/L)| <€0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T o e 7 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 * = ES — ~ (mg/L) <0.0008|  <0.0008| <0.0008  <0.0008 4/ <€0.0008| <0.0008  <0.0008
T s 7 Y v (mg/L) <0.0001| <0.0001  <0.0001| <0.0001 4| <0.0001| <0.0001  <0.0001
T = =4 N Z (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
T 3 k = A (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
T v 4 = — JL (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
A4 Y 7 = v & A (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
A 7uah )7 (MIPC) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4, <0.0001 <0.0001| <0.0001
AV 7uaF 47 (IPT) (ng/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A4 7 7 = v B v N Y (ng/Ll)
A4 7 ~X 2R A(IBP) (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009  <0.0009
A4 X J 7 % ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 v X ) 7 7 v (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
= X ZF v FH J 7 (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
T b7 = v 7 v vy 7 A (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
TURZNL T 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
F ¥ % Y 7 v A AR v (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
F x> 8] (A B 8 ) (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
F UV ¥+ X b v B ¥ (mg/l)
Vi) 2 VR N Z  (mg/L) | <0.000006| <0.000006| <0. 000006 <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
J1 7 = v A k1 — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
Vi) % i % 7 (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
J3 N Y L (N A C ) (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
i) 2 Z > (mg/L) | <0.000003| <0.000003 <0.000003| <0.000003 4| <0.000003| <0.000003| <0. 000003
¥ /27 732 (A CN) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
% X 7 i v (mg/L) <0. 003 <0.003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
7 2 % = > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 ) TN A — I (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y % — b (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v A 7 v v 7 (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
sl =ra 7=z (CNP) @@mg/L)| <0.0001  <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 m J U A& A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
souaZuoa=,bo(TPN) (@mL)| <0.0005 <0.0005 <0.0005 <0.0005 4| <0.0005| <0.0005  <0.0005
D4 T 7+ Y > (mg/L) | <0.00001| <0.00001| <0.00001 <0.00001 4| <0.00001| <0.00001| <0.00001
7 K A (CY AP ) (mg/L)| <€0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
Y vy (DCMU ) (mg/L)| <0.0002 <0.0002 <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
7 X =)L (DBN) (mglL)| <0.0003 <0.0003 <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
)R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
D% 7 1 > ~ (mg/L) <0.0001| <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001  <0.0001
P ZVRR (mF L FF AR ) (mg/L) | <0.00004| <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)
D i i = JL (mg/L) | <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
oo m R oy 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
> % ¥ v (C A T ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
v oX X Ak U v (mg/L) <0.0002|  <0.0002| <0.0002|  <0.0002 4/ <0.0002| <0.0002  <0.0002
2 A K - — K (mg/L) | <0.0005 ~ <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
D4 A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
2 A T Y J v (mg/L) | <0.00003| <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
5 A N i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
AR AF (T —30) R (ng/L)

AFNAI)TFF T X —F
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/ 5 7 10 2 EE Rm | RE T

HH

A T % = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0.001 <0. 001
5 w7 =z 2 (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4/ <0.0002| <0.0002| <0.0002
F A ¥ J v 7 (mg/L)| <0.0008 <0.0008  <0.0008  <0.0008 4 <0.0008  <0.0008  <0.0008
F A 7 73— kA F L (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F 4 X v 7 (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4 <0.0002|  <0.0002  <0.0002
T 7 U kU F ¥ (mg/L)| <0.00002 <0.00002 <0.00002 <0.00002 4| <0.00002| <0.00002| <0.00002
FIUTHLT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002  <0.0002  <0.0002
b ) 4 = = JLU (mg/L) | <0.0003  <0.0003 <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
MU Z ok (DEP) (mg/L)| <0.0002 <0.0002 <0.0002  <0.0002 4| <0.0002  <0.0002  <0.0002
U Y T 7 — L (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
U 7 v Z U v (mg/L) <0.0006  <0.0006  <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ 7 = N g K (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — I (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
= ~ o N Z (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
= v 7 = = )L (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4 <0.0001  <0.0001| <0.0001
E 27 Y X ¥ 7 = ¥ (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4, <0.00004| <0.00004 <0.00004
IV R—hK (YL —bF) (ng/L) <0.0002|  <0.0002| <0.0002  <0.0002 4, <0.0002| <0.0002|  <0.0002
U X 7 = v F F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
v v 7 F B N T (mg/l) <0.0002|  <0.0002| <0.0002  <0.0002 4/ <€0.0002| <0.0002  <0.0002
=4 id ¥ =4 > (mg/L) <0.0005|  <0.0005| <0.0005  <0.0005 4/ <0.0005| <0.0005  <0.0005
7 4 A = = L (mg/L) | <0.000005 <0.000005 <0.000005 <0.000005 4 <0.000005| <0.000005 <0.000005
TJxz=braF AL (MEP) (mg/L) <0.0001| <0.0001  <0.0001| <0.0001 4| <0.0001| <0.0001 <0.0001
7x /)7 ANT (BPMC) (mg/L) €0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 ES ) UN ' > (mg/L) | <0.0005 ~ <0.0005  <0.0005  <0.0005 4, <0.0005 <0.0005  <0.0005
7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4, <0.00006 <0.00006 <0.00006
7 =z bhrx= — K (PAP) (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4, <0.00007| <0.00007 <0.00007
7 = v b 7 ¥ I K (mg/l) <0.0001|  <0.0001| <0.0001  <0.0001 4| <0.0001  <0.0001  <0.0001
7 Va 7 A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 K2 7 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4 <0.0003 <0.0003  <0.0003
7 ol =} 7R A (mg/L) <0.0002|  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 m 7 = ¥ v (mg/L)| <€0.0002 <0.0002  <0.0002  <0.0002 4 <0.0002|  <0.0002  <0.0002
7 v 7 ¥ F A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
7> v F T 7 v — ) (mg/L) <0.0005| <0.0005 ~ <0.0005/  <0.0005 4 <0.0005| <0.0005  <0.0005
7 i D4 = K v (mg/L) <0.0009|  <0.0009| <0.0009  <0.0009 4/ <€0.0009| <0.0009  <0.0009
7 v F & A& A (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4, <0.00007| <0.00007 <0.00007
7 m ¥ = Y — L (mg/L)| <0.0005  <0.0005 ~ <0.0005  <0.0005 4, <0.0005 <0.0005  <0.0005
7 i = A N K (mg/L) <0.0005|  <0.0005| <0.0005  <0.0005 4/ <€0.0005/ <0.0005  <0.0005
7 mu X F Y — L (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
7 i = 7 ¥ K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 2 L (mg/L) <0.0002|  <0.0002| <0.0002  <0.0002 4/ <0.0002| <0.0002  <0.0002
~ v DA o v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009 ~ <0.0009  <0.0009 4, <0.0009 <0.0009  <0.0009
~N v Y 7 = F v 7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
~ Mg b > v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T o A K2 U v (mg/L) <0.003 <0.003 <0.003 <0.003 4 <0.003 <0.003 <0.003
N v 7 Z 4 v 7 (mg/l) <0.0002|  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
Ry (R2aYr) (ng/L) <0.0001|  <0.0001  <0.0001  <0.0001 4/ <0.0001| <0.0001  <0.0001
~ v 7 L & — b (mg/l) <0.0007|  <0.0007| <0.0007  <0.0007 4/ <0.0007| <0.0007  <0.0007
A A F 7 ¥ — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
~ I F A (~F Y v) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7oy 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4 <0.0005  <0.0005  <0.0005
A > = L (mg/L) <0.0003|  <0.0003| <0.0003  <0.0003 4/ <0.0003| <0.0003  <0.0003
A i = X DA L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AFHZF A (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4, <0.00004| <0.00004 <0.00004
A K~ X J A F m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004 <0.0004  <0.0004
A F ) 7 Y > (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003  <0.0003
A 7 = F v v k (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4] <0.0002  <0.0002|  <0.0002
A 7 = = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
= J b — I (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
=3 B A <1 <1 <1 <1 4 <1 <1 <1
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4) PRGBS FEA )[R SR G KR K

P KGE A3 4 ) 1R Rfa AR K (2D 1)
H
s 4 5 6 7 8 9
e 0 0 0 0 0 0
— ik | B Cru/ml) A% 0 0 0 0 0 0
S 0 0 0 0 0 0
b q]
VN 74 FAX
8 = = = = = =
B 0. 003 0.004|  0.005 0.006/  0.008 0. 008
m ok N F o b & W (mg/l) HAE| <0.001  <0.001] <0.001| <0.001 <0.001  <0.001
SEEg| 0 <0.001) <0.001 0. 001 0. 001 0. 001 0. 002
B <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
% kK O 2 o b & ¥ (g/l) K <0. 03 <0. 03 <0.03 <0. 03 <0.03 <0. 03
pre SEH) <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
| <0.0010  <0.001] <0.001  <0.001] <0.001  <0.001
v~ v H U RO EONAE YW (mg/L) Il <0.001 <0.001 <0.001 <0.001 <0.001  <0.001
%t SEHg| <0.001]  <0.001  <0.001 <0.001 <0.001  <0.001
B 16.9 13.0 11.8 14.5 15.8 14.5
wotk ® A 7+ v (mg/L) HAK 12.3 8.8 9.4 10. 4 7.0 12.1
H SEH) 15. 1 11.2 10.5 11.1 13.1 13.3
e 0.9 0.8 0.9 0.8 0.9 0.8
H H Vi W (Toc)  (mg/L) | F1& 0.5 0.6 0.6 0.6 0.5 0.5
S 0.8 0.8 0.7 0.7 0.8 0.7
B 7.60 7.63 7.67 7.68 7.72 7.68
pH i 53l 7.53 7.53 7.53 7.54 7.50 7.49
SEH) 7.56 7.56 7.56 7.61 7.57 7.56
US RHERL BEL BREARL BRER2L BRERL BELL
R A Farie U B U Bae U B U B U B L
B <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
&) () K 0.5 0.5 0.5 <0.5 0.5 0.5
-y <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
B 0. 02 0. 03 0. 02 0.01 0. 02 0. 04
b} B (B) | &% <0.01 <0.01 <0. 01 <0.01 <0. 01 <0.01
SEH) 0.01 0.01 <0. 01 <0.01 <0. 01 <0. 01
’gﬁ e 0. 80 0. 83 0. 80 0. 80 0.73 0.71
w |E BE 7k B i #F  (mg/L) mIX 0.53 0. 47 0.58 0.55 0.41 0. 49
) ] 0. 69 0. 69 0.71 0.65 0. 60 0.63
A -] 0. 86 0.88 0.85 0.85 0. 80 0. 77
5 |7 3 # F (ng/l) KK 0. 58 0.53 0. 66 0. 61 0. 48 0. 57
s RS2 0.75 0.75 0.76 0.71 0. 67 0. 70
A OB % Kmo, WM OB B ) (mg/l) 0.6 0.9 0.4 0.7 0.9 0.7
B 18.6 22.7 25.6 30. 7 31.8 32. 2
7K w(C) &K 15.7 18.9 22.2 26. 3 27.7 27.0
SEH) 17. 4 21.2 23. 4 28. 0 30.5 30. 1
e 36.0 35.8 36. 4 35.6 37.4 38.2
7 v il ) o (mg/L) wAX 30.0 28.3 30.8 32.8 30.7 33.2
- NE5] 34.0 32.9 33.9 34.5 33.6 35.6
[ B (mg/L) 2.3 2.3 2.9 2.4 2.4 2.1
i 173 e = #  (mg/L) 1.01 0. 52 0.52 0. 64 0.79 0. 99
fix (B iz A 7+ > (mg/L) 18.4 17.5 15.7 16.2 22.5 21. 1
BV v u A i E (mg/L) 30 26 27 29 30 30
~ J x ¥ v A fE E (ng/L) 8 7 8 9 9 9
e 18.4 16.5 16.2 18.0 19.0 18.8
e = fr i # (S/m) FAK 15.6 13.7 13.8 15.1 14.4 16.9
NE5] 17.6 15.5 14.8 15.6 17.3 17.9
= 17 it #  (mg/L) 9.4 10. 2 9.2 7.5 8.7 7.3
H = 0. 042 0. 033 0. 033 0. 037 0. 035 0. 034
SN U4 ot 5 K 0.018 0.017 0.018 0.016 0.016 0. 020
S 0. 035 0.028 0.024 0. 027 0. 027 0. 029
L H o~ a F v owE (ng/L) 0.036 0.016 0.026 0.021 0. 042 0. 046
w6 MmO E (B’ OE ) (mg/l) <0. 001 0.001  <0.001 0.001 0.001 0.001
7 Y 7 b AR U ¥ v A (fEH/200) 0 0
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10 11 12 1 2 3 [ %% = 54 i S
0 0 0 0 0 0
0 0 0 0 0 0 96 0 0 0
0 0 0 0 0 0
96 - - -
0.007|  0.004] 0.005  0.003  0.002  0.003
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 96 0.008 <0.001| <0.001
0.001|  0.001 0.001 <0.001 <0.001 <0.001
<0.03] <0.03] <0.03] <0.03  <0.03  <0.03
<0.03/ <0.03] <0.03  <0.03  <0.03  <0.03 96  <0.03  <0.03] <0.03
<0.03] <0.03] <0.03  <0.03  <0.03  <0.03
<0.001 <0.001 <0.001]  0.002] <0.001 <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 96 0.002 <0.001| <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001
15.7 15. 8 16. 3 17.6 18.2 14. 6
9.9 14.0 15.6 14.9 15.1 13.4 96 18.2 7.0 13.7
13.2 15.0 15.9 15.9 16.7 13.8
0.8 0.9 1.0 1.0 0.9 0.8
0.6 0.7 0.8 0.6 0.8 0.7 9 1.0 0.5 0.8
0.8 0.8 0.9 0.8 0.9 0.8
7.69 7. 60 7.63 7.58 7.59 7.58
7.55 7.51 7.50 7.51 7.50 7.51 96 7.72 7.49 7.56
7. 60 7.56 7.56 7.54 7.53 7.55
B U BE20 BEaLU BAERL BERL AL 96 BER L
Fare U B U B U B U B L B L 96 B L
0.5 <0.5 0.5 <0.5 0.5 <0.5
0.5 0.5 0.5 0.5 0.5 0.5 9 0.5 0.5 0.5
0.5 <0.5 0.5 <0.5 0.5 <0.5
0. 04 0.03 0. 04 0. 06 0.03]  <0.01
<0.01 <0.01 <0.01 <0.01 <0.01 <0. 01 96 0.06|  <0.01 <0.01
0.01 <0. 01 0.01 0.02|  <0.01 <0. 01
0. 74 0.78 0. 74 0.79 0.81 0.74
0. 44 0.55 0. 46 0.58 0. 48 0. 49 9 0.83 0.41 0. 66
0.61 0.67 0. 66 0. 69 0.69 0. 66
0. 80 0. 82 0. 80 0.85 0.85 0.79
0. 50 0. 62 0.53 0.63 0.56 0.53 96 0.88 0.48 0.72
0. 66 0.73 0.72 0. 74 0. 74 0.71
0.7 1.0 0.8 1.2 1.2 0.9 12 1.2 0.4 0.8
27.5 22.3 15.9 12.3 13.4 13.8
21. 4 18.4 11.0 9.9 9.9 9.9 96 32.2 9.9 20. 2
24. 6 19. 8 13.7 10.9 11.4 11.8
36. 4 39.0 39.8 38.8 39.2 35.2
29.9 35.8 38.0 34.8 36. 4 32.6 9 39.8 28.3 35.3
34.6 37.5 39.0 37.0 37.5 34.0
3.4 2.3 2.4 2.5 2.8 2.9 12 3.4 2.1 2.6
1.21 0.96 1.03 1.04 1. 26 1.18 12 1.26 0.52 0.93
19. 6 19. 8 19. 3 18. 6 19.8 18. 2 12 22.5 15.7 18.9
31 32 33 33 34 32 12 34 26 31
10 9 10 10 10 9 12 10 7 9
18. 4 18.6 19.0 18.8 19. 4 17.8
14.6 18.0 18.5 17.7 18.0 16. 7 9 19.4 13.7 17.2
17.0 18. 2 18.8 18.3 18.8 17.1
8.9 8.7 10. 8 12.2 12.3 11.5 12 12.3 7.3 9.7
0.053] 0.033] 0.039] 0.039  0.034  0.043
0.027) 0.019] 0.022  0.029  0.027  0.019 96  0.053  0.016/ 0.030
0.036/ 0.029] 0.034  0.033  0.031  0.028
0.024] 0.029] 0.029  0.029/ 0.021] 0.031 12]  0.046)  0.016/  0.029
0.001] 0.001 0.001]  0.001 0.001] 0.001 12| 0.001] <0.001 <0.001
0 0 4 0 0 0

83




4) PRGBS R4 15K SR G KR K

Bt A A E R A4 ) 1R R da AR fe K (2D 2)
A

i 4 5 6 7 8 9
ARITLEKEOZEDAEH (ng/l) <0. 0003 <0.0003| <0.0003| <0.0003 <0.0003 <0.0003
KB E O F O b & W (mg/L) <0. 00005 <0. 00005 <0. 00005 <0. 00005 <0. 00005 <0. 00005
L vk O™ ZE o0 A W (ng/l) <0.001  <0.001 <0.001| <0.001 <0.001| <0.001
b E K O T o b A B (mg/l) <0.001| <0.001 <0.001 <0.001 <0.001 <0.001
N fli 7 v & b & B (ng/L) <0.002 <0.002 <0.002| <0.002 <0.002| <0.002
i fi 73 i %= #  (mg/L) <0.004| <0.004 <0.004| <0.004 <0.004| <0.004
vk AA Y RO KLY 7 (ng/L) <0.001 <0.001 <0.001| <0.001 <0.001| <0.001
HMEBEERKLOHMBEZEFR (ng/L) 1.01 0. 52 0.52 0. 64 0.79 0. 99
7 v F K N ZE 0L E W (mg/l) <0. 08 <0. 08 <0. 08 0. 09 0.10 0. 09
w7 FE K RE O AW (ng/L) <0.1 0.1 <0.1 0.1 <0.1 <0.1
Iy by it 5 # (mg/L) <0. 0002 <0.0002| <0.0002| <0.0002 <0.0002 <0.0002
L4 — ¥ F F B+ (mg/l) <0.005  <0.005  <0.005/ <0.005 <0.005/ <0.005
‘b;f;lf_l’;f/‘:’;;j;;%g\ (mg/L) <0.004 <0.004 <0.004 <0.004 <0.004 <0.004

®ly 7 v B %X % v (mg/l) <0.002  <0.002 <0.002| <0.002 <0.002| <0.002
> F 5 7 v o =xF L > (mgl) <0.001 <0.001 <0.001| <0.001 <0.001| <0.001
YU 7 v e x F L > (gl <0.001  <0.001 <0.001| <0.001 <0.001| <0.001

e N + > (mg/L) <0.001  <0.001 <0.001| <0.001 <0.001| <0.001

% i # B (mg/L) <0. 06 <0. 06 <0. 06 <0. 06 0. 06 <0. 06
Vi = =t W g (mg/L) <0.002 <0.002 <0.002| <0.002 <0.002| <0.002
7 =t = A v A (mg/L) 0. 002 0. 003 0. 008 0. 007 0. 008 0. 004

vl D Vi = =t e B (mg/L) <0.003  <0.003 <0.003| <0.003 0.003| <0.003
Y7 uw® s unr A %2 (ng/l) 0. 003 0. 003 0. 004 0. 007 0. 009 0. 009
" 3 g (mg/L) 0.001 <0.001 <0.001 0. 002 0. 005 0. 002
woN U oo~ . A & v (mg/L) 0. 008 0. 009 0.018 0.023 0. 029 0. 023

Hlr v 27 = = ® & (/L) <0.003  <0.003 <0.003| <0.003 <0.003| <0.003
7 m® Y/ au A& (mg/l) 0. 003 0. 003 0. 006 0. 008 0.010 0. 007
7 = £ A A A (mg/L) <0.001  <0.001, <0.001 0.001 0. 002 0.003
A v A 7 A F b K (mg/Ll) <0.008  <0.008 <0.008 <0.008 <0.008| <0.008
Mo &k 8 2 © b A& W (mg/L) <0. 1 0. 1 <0. 1 0. 1 <0. 1 0. 1
TNV =T AEORZEDOALEY (mg/L) 0. 02 0. 02 0.03 0. 04 0.04 0.03
i Kk O = o & & W (ng/L) <0. 1 <0.1 <0. 1 <0.1 <0. 1 <0.1
F PV T AKROZEDIAEY (mg/L) 13.6 11.2 11.7 13.2 17.7 16.5
AN T L= 7Ry N GEE) (ng/L) 38 33 35 38 39 39
7K & 53 H Y (mg/L) 92 79 86 79 112 103
e A4 A& v K om & % A (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
D4 e 7+ A 3 > (ng/L) <1 <1 <1 <1 <1 <1
2-AF A Y AL F — L (ng/L) <1 <1 <1 <1 <1 <1
A4 A v H omE I M Al (mg/L) <0.005/ <0.005| <0.005 <0.005 <0.005 <0.005
7 - J — v (mg/L) <0. 0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
TrFE LR ORZEOLEY (mg/L) <0. 002 <0. 002
v 7 v kO E oA W (mg/l) <0. 0002 <0. 0002
= v Vv EkONZE DO EY g/l <0. 002 <0. 002
L2- ¥ 7 v v = &% > (mg/l) <0. 0004 <0. 0004
S L - > (mg/L) <0. 04 <0. 04
TENEEY Q= FAA~F ) (ng/L) <0. 008 <0. 008

& |m i % i (mg/L) <0. 06 <0. 06

Bl 7 mue 7% F=F U (gl <0. 001 <0. 001

E,; W ok 7 w7 — L (mg/L) <0. 002 0. 002

; J- 3 2K 35 <1 <1

= [ Hit 1574 i (mg/L) 2.0 2.0 2.6 2.1 2.1 1.8

H|LLI- F U 7 moa = %~ (mg/l) <0. 03 <0. 03

H|AFN-t-7F /L= —F L MIBE) (mg/L) <0. 002 <0. 002
" £ i i3 (TON) 1 1 1 1 1 1
S v F U T B %K -1.4 -1.4 -1.3 -1.2 -0.9 -1.2
T A (CFU/m1) 0 0
Ll — Y7o L > (mgl <0. 01 <0. 01
e . I
SN AA Sy g S T 6 8
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10 11 12 1 2 3 [A1%% = AR RSS)
<0.0003 <0.0003 <0.0003| <0.0003| <0.0003 <0.0003 12| <0.0003| <0.0003 <0.0003
<0. 00005| <0. 00005| <0. 00005 <0. 00005 <0. 00005 <0. 00005 121 <0. 00005 <0. 00005 <0. 00005
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001 <0.001
<0.001 <0.001 <0.001| <0.001 <0.001| <0.001 12)  <€0.001  <0.001  <0.001
<0.002  <0.002/ <0.002| <0.002| <0.002 <0.002 12| <0.002| <0.002 <0.002
<0.004 <0.004 <0.004| <0.004| <0.004  <0.004 12]  <0.004 <0.004  <0.004
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001 <0.001

1.21 0.96 1.03 1.04 1.26 1.18 12 1.26 0.52 0.93

0. 10 0. 10 0.09 0. 08 0.08/  <0.08 12 0.10/ <0.08  <0.08

0.1 <0.1 0.1 <0.1 0.1 <0.1 12 <0.1 0.1 <0.1
<0.0002 <0.0002 <0.0002| <0.0002 <0.0002 <0.0002 12| <0.0002| <0.0002 <0.0002
<0.005 <0.005 <0.005| <0.005 ~<0.005  <0.005 12]  <€0.005  <0.005  <0.005
<0.004 <0.004 <0.004| <0.004| <0.004  <0.004 12/ <€0.004 <0.004  <0.004
<0.002  <0.002 <0.002| <0.002/ <0.002  <0.002 12]  <€0.002  <0.002  <0.002
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001 <0.001
<0.001 <0.001 <0.001| <0.001 <0.001| <0.001 12)  <€0.001  <0.001  <0.001
<0.001 <0.001 <0.001| <0.001| <0.001  <0.001 12| <0.001| <0.001 <0.001

<0.06/ <0.06] <0.06  <0.06  <0.06  <0.06 12 0.06| <0.06  <0.06
<0.002  <0.002/ <0.002| <0.002| <0.002 <0.002 12| <0.002| <0.002 <0.002

0.004)  0.005  0.005  0.003  0.002  0.003 12/ 0.008  0.002  0.004
<0.003 <0.003 <0.003| <0.003| <0.003 <0.003 12| 0.003] <0.003 <0.003

0.005  0.007|  0.005  0.003  0.002  0.004 12/ 0.009  0.002  0.005

0.001| <0.001 <0.001 <0.001 <0.001| <0.001 12| 0.005| <0.001 <0.001

0.015/  0.021| 0.017  0.010  0.006/  0.011 120 0.029  0.006  0.016
<0.003  <0.003 <0.003| <0.003| <0.003 <0.003 12| <0.003| <0.003 <0.003

0.005  0.007)  0.006  0.004  0.002  0.004 12/ 0.010  0.002  0.005

0.001| 0.002  0.001 <0.001 <0.001| <0.001 12| 0.003| <0.001 <0.001
<0.008 <0.008 <0.008| <0.008 <0.008  <0.008 12]  <€0.008  <0.008  <0.008

<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1

0.03 0.02 0.02 0.02 0.02 0.01 12 0. 04 0.01 0.02

<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1

15.3 15.8 15.5 15.6 17.7 15.6 12 17.7 11.2 15.0

41 41 43 43 44 41 12 44 33 40

101 112 111 92 116 96 12 116 79 98
<0.02] <0.02] <0.02  <0.02  <0.02  <0.02 12| <0.02] <0.02  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005 <0.005 <0.005| <0.005 ~<0.005  <0.005 12]  <€0.005  <0.005  <0.005
<0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12| <0.0005/ <0.0005 <0.0005
<0. 002 <0. 002 4] <0.002] <0.002 <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002 <0.0002
<0. 002 <0. 002 4] <0.002] <0.002  <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004 <0.0004
<0. 04 <0. 04 4, <0.04) <0.04  <0.04
<0. 008 <0. 008 4 <0.008 <0.008  <0.008
<0. 06 <0. 06 4, <0.06] <0.06  <0.06
<0. 001 <0. 001 4] <0.001 <0.001 <0.001
<0. 002 <0. 002 4, 0.002] <0.002  <0.002
<1 <1 4 <1 <1 <1
3.0 2.0 2.1 2.2 2.5 3.3 12 3.3 1.8 2.3

<0. 03 <0.03 4, <0.03] <0.03  <0.03
<0. 002 <0. 002 4] <0.002] <0.002  <0.002
1 1 1 1 1 1 12 1 1 1

-1.2 -1.3 -1.2 -1.4 -1.4 -1.5 12 -0.9 -1.5 -1.3
0 2 4 2 0 0
<0.01 <0.01 4, <0.01)  <0.01 <0.01

7 6 4 8 6 7
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Bt A FE R FEA ) VAR RfG ARERK (200 3) E3HH

/ 5 7 10 2 EE Rm | RE T
HH
1,3—y7un7rX (D—D) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D ( 24 — P A ) (mg/L)| <€0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 o e 7 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 * = ES — ~ (mg/L) <0.0008|  <0.0008| <0.0008  <0.0008 4/ <€0.0008| <0.0008  <0.0008
T K 7 Y v (mg/L) <0.0001  <0.0001, <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
7 = o iR Z (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T s k = A (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
T 7 7 = — L (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = v & A (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
Ay 7uah 7 (MIPC) (ng/L) <0.0001| <0.0001  <0.0001| <0.0001 4| <0.0001| <0.0001 <0.0001
A4 7aF A7 (IPT) mg/l) <0.003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A4 7 7 = v B v N Y (ng/Ll)
A4 7 ~X AR A(IBP) (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009|  <0.0009
A4 X J 7 X ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 v X ) 7 7 v (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
= X ZF v H J 7 (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
T b7 = v 7 va vy 7 A (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
TURZNL T 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
F ¥ % Y 7 v A AR v (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
F x> 8 (A B 8 ) (meg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
F UV ¥+ X b v B ¥ (mg/l)
7 2 A N Z  (mg/L) | <0.000006| <0.000006| <0. 000006 <0.000006 4| <0. 000006 <0.000006| <0. 000006
J1 7 = v A bk 1 — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
Vi) % i % 7 (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
J N Y L (N A C ) (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
i) 2 < > (mg/L) | €0.000003| <0.000003 <0.000003| <0.000003 4| <0.000003| <0.000003| <0. 000003
¥ /27 732 (A CN ) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
% X 7 i v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
7 2 % = > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 ) TN A — I (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y % — b (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v A 7 v v 7 (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
sl =ra 7=z (CNP) @@mg/L)| <0.0001  <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 wm J U A& A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
souaZuoa=,b(TPN) @@mL)| <0.0005 <0.0005 <0.0005 <0.0005 4| <0.0005| <0.0005  <0.0005
D4 T 7+ Y > (mg/L) | <0.00001| <0.00001| <0.00001 <0.00001 4| <0.00001| <0.00001| <0.00001
7 K A (CY AP ) (mg/L)| <€0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
Y vy (DCMU ) (mg/)| <0.0002 <0.0002 <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
7 X =)L (DBN) (mglL)| <0.0003 <0.0003 <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
)R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
D% 7 1 > ~ (mg/L) <0.0001| <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001  <0.0001
P ZIVRR (mF L FF AR ) (mg/L) | <0.00004| <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)
D i i = JL (mg/L) | <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
oo m R oy 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
> % ¥ v (C A T ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
v oX X Ak U v (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
% A K - — K (mg/L) | <0.0005 ~ <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
DA A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
2 A T Y J > (mg/L) | <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
5 A N i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
ﬁf%yI*\%é?A(iJ—v\‘A‘)&U“ (ng/L)
AFNAYFF T X —Fh
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/ 5 7 10 2 EE R\ RE T

HH

A T % = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
5 74 =z 2 (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4/ <0.0002| <0.0002| <0.0002
F A ¥ J v 7 (mg/L)| <0.0008 <0.0008  <0.0008  <0.0008 4 <0.0008  <0.0008  <0.0008
F A 7 7 3 — kA F L (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F 4 X v 7 (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4 <0.0002|  <0.0002  <0.0002
T 7 U K~ U F ¥ (mg/L)| <0.00002 <0.00002 <0.00002 <0.00002 4| <0.00002| <0.00002| <0.00002
FIUTHLT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002  <0.0002  <0.0002
b ) 4 = = JLU (mg/L) | <0.0003  <0.0003 <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
MU Z ok (DEP) (mg/L)| <0.0002 <0.0002 <0.0002  <0.0002 4| <0.0002  <0.0002  <0.0002
U Y T 7 — L (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
U 7 v Z U v (mg/L) €0.0006  <0.0006  <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ 7 = N g K (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — I (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
= ~ o N Z (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
= v 7 = = )L (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4, <0.0001  <0.0001| <0.0001
E 7 Y ¥ ¥ 7 = ¥ (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4, <0.00004| <0.00004 <0.00004
IV R—hK (YL —bF) (ng/L) <0.0002|  <0.0002| <0.0002  <0.0002 4, <0.0002| <0.0002|  <0.0002
U X 7 = v F F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
v v 7 F B N T (mg/l) <0.0002|  <0.0002| <0.0002  <0.0002 4/ <€0.0002| <0.0002  <0.0002
=4 id ¥ =4 > (mg/L) <0.0005|  <0.0005| <0.0005  <0.0005 4/ <0.0005| <0.0005  <0.0005
7 4 A = = L (mg/L) | <0.000005 <0.000005 <0.000005 <0.000005 4 <0.000005| <0. 000005 <0.000005
TJxz=braF AL (MEP) (mg/L) <0.0001| <0.0001  <0.0001| <0.0001 4| <0.0001| <0.0001  <0.0001
Z7x /)7 ANT (BPMC) (mg/L) €0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 ES ) UN ' > (mg/L) | <0.0005 ~<0.0005  <0.0005  <0.0005 4, <0.0005/ <0.0005  <0.0005
7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4, <0.00006 <0.00006 <0.00006
7 =z bhx= — K (PAP) (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4, <0.00007| <0.00007 <0.00007
7 = v b 7 ¥ I K (mg/l) <0.0001| <0.0001| <0.0001  <0.0001 4| <0.0001  <0.0001  <0.0001
7 Va 7 A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 K2 7 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4 <0.0003/ <0.0003  <0.0003
7 ol =} R A (mg/L) <0.0002|  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 m 7 = ¥ v (mg/L)| <€0.0002 <0.0002  <0.0002  <0.0002 4 <0.0002|  <0.0002  <0.0002
7 v 7 ¥ F A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
7> v F T 7 v — )b (mg/L) <0.0005| <0.0005  <0.0005| <0.0005 4 <0.0005| <0.0005  <0.0005
7 i D4 = K v (mg/L) <0.0009|  <0.0009| <0.0009  <0.0009 4/ <0.0009| <0.0009  <0.0009
7 v F & A& A (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4, <0.00007| <0.00007 <0.00007
7 m ¥ =2 F ) — L (mg/L)| <0.0005  <0.0005 ~ <0.0005 ~ <0.0005 4, <0.0005/ <0.0005  <0.0005
7 i = A N K (mg/L) <0.0005|  <0.0005| <0.0005  <0.0005 4/ <€0.0005/ <0.0005  <0.0005
7 mu X F Y — L (mg/L)| <0.0003 <0.0003 ~ <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
7 i = 7 ¥ K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 2 L (mg/L) <0.0002|  <0.0002| <0.0002  <0.0002 4/ <0.0002| <0.0002  <0.0002
~ v DA o v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009 ~ <0.0009 4, <0.0009| <0.0009  <0.0009
~N v Y 7 = F v 7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
~ Mg b i v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T o A K2 U v (mg/L) <0.003 <0.003 <0.003 <0.003 4 <0.003 <0.003 <0.003
N v 7 Z 4 v 7 (mg/l) <0.0002|  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
RT3 (R_R2a2r) (ng/L) <0.0001|  <0.0001  <0.0001  <0.0001 4/ <0.0001| <0.0001  <0.0001
~ v 7 L & — b (mg/l) <0.0007|  <0.0007| <0.0007  <0.0007 4/ <0.0007| <0.0007  <0.0007
A A F 7 ¥ — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
~ 7 F A (~F 7 ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7oy 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4 <0.0005  <0.0005  <0.0005
A > = L (mg/L) <0.0003|  <0.0003| <0.0003  <0.0003 4/ <0.0003| <0.0003  <0.0003
A i = X DA L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AFHZF A (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4, <0.00004| <0.00004 <0.00004
A K~ I J A F m B v (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004 <0.0004  <0.0004
A F ) 7 Y > (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003  <0.0003
A 7 = F v v k (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002  <0.0002|  <0.0002
A 7 = = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
= J b — I (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
=3 B A <1 <1 <1 <1 4 <1 <1 <1
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5) BFRIAR L TR BRAEIKERIK (o320 15011 A B OB R 08 4 IS TR A AR A
BRI TERGAKEAK (D 1)

A
HH

Ea

e 0 0 0 0 0 0
— ik B (CFU/ml) | F A 0 0 0 0 0 0
) 0 0 0 0 0 0

e
A
vy - - - - - -

SF
oo
N
B

B[ <0.001  <0.001| <0.001  <0.001| <0.001  <0.001
&k O o b & ¥ (mg/L) &IK| <0.001 <0.001| <0.001 <0.001| <0.001  <0.001
S| <0.0010 <0.001) <0.001  <0.001 <0.001 <0.001

B <0.03  <0.03] <0.03/ <0.03  <0.03  <0.03
% kK O = o { & ¥ g/l KK <0. 03 <0. 03 <0.03 <0. 03 <0.03 <0. 03
SEEJ| <0.03) <0.03]  <0.03]  <0.03  <0.03  <0.03

% Fim| <0.001)  <0.001  <0.001| <0.001 <0.001  <0.001
~ v H R ONZEDONAES W (ng/L) & <0.001 <0.001 <0.001 <0.001  <0.001  <0.001

e SEH| <0.001  <0.001| <0.001) <0.001  <0.001  <0.001
54 15.0 11.4 11.4 14.5 15.1 13.0

- - [/ B 4 v (mg/L) &K 13.7 9.0 10.5 10. 4 10.6 12.5
- S 14. 4 10. 2 11.0 12. 4 12.8 12.8
53] 0.8 0.7 0.8 0.8 0.8 0.9

H|A i L] (Toc)  (mg/L) | Ff 0.7 0.7 0.8 0.8 0.7 0.7
F-H) 0.8 0.7 0.8 0.8 0.8 0.8

5q] 7.56 7.56 7.49 7.55 7.55 7.50
FAX 7.53 7.50 7.47 7.54 7.52 7.49
) 7.54 7.53 7.48 7.54 7.54 7.50

=

pH f

US WL BEe L BERL BER L | BRE/RL BEL

= B U R BEa L BERL BREAeL BERL
531 <0.5 0.5 <0.5 0.5 <0.5 0.5
EO(E KK 0.5 0.5 0.5 0.5 0.5 0.5
) <0.5 0.5 <0.5 0.5 <0.5 0.5
fm|  <0.01 0.01 0.02  <0.01 0.01  <0.01
V& EO(E) KK <0. 01 <0.01 <0. 01 <0.01 <0.01 <0.01
Sl <0.010  <0.01 0.01  <0.01  <0.01/ <0.01
éf% B 0.75 0.77 0.73 0.76 0.75 0.71
wE B % &8 B\ #F (/D) | EIE 0.74 0. 69 0. 66 0. 70 0. 66 0. 64
H vyl o.74 073 070 0.73  0.70,  0.68
" 54 0.81 0. 84 0. 80 0.88 0. 81 0.78
5| 2 i3 % (mg/l) &K 0. 80 0. 74 0.73 0.76 0.73 0.71
i St 0. 80 0.79 0.76 0.82 0.77 0.74
TlE OB W % Km0, W B OB ) (mg/L) 0.9 0.9 0.4 0.8 0.9 0.7
54 17.7 21.9 26.0 29.0 31.3 29. 2
7K m(C) &K 17. 4 19.0 22.5 27.8 31.3 28. 1
S 17.6 20. 4 24.2 28.4 31.3 28.6
53] 33.4 29.5 32.6 32. 4 32.9 31.8
7 S 7 U o (mg/L) FAR 30. 2 25.2 28.9 30. 4 29.3 29.3
— F-H) 31.8 27.4 30. 8 31.4 31.1 30. 6
%3 & (mg/L) 2.7 2.1 2.2 2.7 3.4 1.8
il iz 5 = # (mg/L) 0.95 0.56 0. 49 0. 56 0. 80 0.94
L [2%3 A 7 > (mg/L) 18.8 18.5 13.8 16.0 21.3 20. 1
ooy vy AN O E (ng/L) 31 26 27 29 30 29
~ 7 % ¥ v 5 B E (ng/l) 9 7 8 8 9 9
= 531 17.9 15.1 15.1 17.3 17.5 16.8
“|E £ & i o (S/m) | FIE 16.0 13.5 13.4 14.3 14.5 16.2
F-H) 17.0 14.3 14.2 15.8 16.0 16.5
& 17 173 % (mg/L) 9.6 9.5 9.2 7.6 8.3 7.6
H 53] 0.038/ 0.034/ 0.038  0.033] 0.030  0.035
% 4 B W e E B[ 0.034 0.025 0.034  0.030] 0.025  0.032
el 0.036  0.030 0.036]  0.032)  0.028  0.034
e H B o 0 5 v B (ng/l) 0.026 0.021  0.034  0.022] 0.043]  0.034
Ok Mmoo (B, E ) (mg/l) 0.001  0.001  0.001| 0.001  0.001  0.001

7 U 7 Kk A KR U Y U A (f#/200) 0 0
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10 11 12 1 2 3 [E1%% iiE b a i S
0 0 0 0 0 0
0 0 0 0 0 0 24 0 0 0
0 0 0 0 0 0
24 = = =
<0.001  <0.001  <0.001| <0.001| <0.001  <0.001
<0.001  <0.001  <0.001| <0.001| <0.001  <0.001 24 <0.001  <0.001| <0.001
<0.001  <0.001  <0.001| <0.001| <0.001  <0.001
<0.03/ <0.03/ <0.03  <0.03  <0.03  <0.03
<0.03/ <0.03] <0.03  <0.03 ~ <0.03  <0.03 24 <0.03  <0.03] <0.03
<0.03/ <0.03] <0.03  <0.03  <0.03  <0.03
<0.001  <0.001  <0.001| <0.001| <0.001  <0.001
<0.001  <0.001  <0.001| <0.001| <0.001  <0.001 24 <0.001  <0.001| <0.001
<0.001  <0.001  <0.001| <0.001| <0.001  <0.001
15.1 14.1 15.8 15.8 18.0 14.1
14.3 14.1 15.5 15.0 14.3 9.5 24 18.0 9.0 13. 4
14. 7 14.1 15.6 15. 4 16. 2 11.8
0.7 0.9 0.8 0.9 0.8 0.8
0.6 0.8 0.8 0.8 0.8 0.7 24 0.9 0.6 0.8
0.6 0.8 0.8 0.8 0.8 0.8
7.61 7.55 7.62 7.54 7.59 7.52
7.56 7.54 7.54 7.53 7.54 7.49 24 7.62 7.47 7.54
7.58 7.54 7.58 7.54 7.56 7.50
Wl U el WER L e RE L el 24 WL
WEle U g U REL L BEh U | RE L BEhlL 24 HE7RL
0.5 0.5 0.5 0.5 0.5 <0.5
0.5 0.5 0.5 0.5 0.5 0.5 24 0.5 0.5 <0.5
0.5 <0.5 0.5 <0.5 0.5 0.5
0. 05 0. 04 0. 02 0.03 0.02|  <0.01
<0.01)  <0.01|  <0.01  <0.01  <0.01|  <0.01 24 0.05| <0.01  <0.01
0. 02 0. 02 0.01 0. 02 0.01|  <0.01
0. 69 0.77 0.72 0.78 0.75 0.78
0. 69 0.69 0.72 0. 68 0.63 0.72 24 0.78 0.63 0.72
0. 69 0.73 0.72 0.73 0. 69 0.75
0.75 0. 81 0.78 0. 82 0. 82 0. 84
0.73 0.76 0.77 0. 72 0.70 0. 81 24 0. 88 0.70 0.78
0. 74 0.78 0.78 0. 77 0.76 0. 82
0.7 1.1 1.0 1.1 1.5 1.0 12 1.5 0.4 0.9
23.3 21.3 13.5 10.1 11.2 13.8
21.2 17.6 11.0 9.8 10. 4 11.5 24 31.3 9.8 19.8
22.2 19. 4 12. 2 10.0 10. 8 12.6
33.2 36.9 37.8 35.0 35.0 33.0
32.3 35.8 36.6 34.6 33.0 26.3 24 37.8 25.2 32.3
32.8 36. 4 37.2 34.8 34.0 29.6
4.0 2.2 1.9 3.4 3.2 2.8 12 4.0 1.8 2.7
1. 14 1.08 0.98 1.00 1.23 1.15 12 1.23 0. 49 0.91
19. 3 18.0 18.6 18. 4 19.5 17.7 12 21.3 13.8 18.3
31 31 33 33 35 32 12 35 26 31
9 9 10 9 10 9 12 10 7 9
17.2 17.4 18.2 18.0 18.9 17.2
17.1 17.4 18.0 17.7 17.2 14. 2 24 18.9 13. 4 16.5
17. 2 17.4 18.1 17.8 18.0 15. 7
8.8 9.2 11.6 12.0 11.9 11.4 12 12.0 7.6 9.7
0.027  0.041)  0.037  0.038  0.038  0.034
0.024)  0.028/ 0.033  0.036  0.032  0.032 24 0.041  0.024 0.033
0.026/ 0.034) 0.035  0.037  0.035  0.033
0.020/ 0.020 0.019 0.026  0.023  0.025 12| 0.043 0.019  0.026
<0.001  <0.001  0.001| 0.001] 0.001  0.001 12| 0.001| <0.001  <0.001
0 0 4 0 0 0
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<7 U\

5) BPRIAR L 7RG IKARIK (w5541 A 57 2 O
B TEREAKERK (D 2)

AN 2 CTIESIEy YN EV )

H A 4 5 6 7 8 9
BRIV AR OXZEOAEY (ng/l) <0.0003| <0.0003 <0.0003| <0.0003| <0.0003| <0.0003
KB K O F Ot & W (ng/L) <0. 00005| <0. 00005 <0. 00005 <0. 00005 <0. 00005 <0. 00005
tLr v kX EZE 0 AE W g/l <0.001  <0.001| <0.001| <0.001  <0.001| <0.001
b E K O Ot & ¥ (mg/l) <0.001  <0.001| <0.001| <0.001  <0.001| <0.001
AN ofli 7 v o Mk A W (mg/l) <0.002  <0.002| <0.002| <0.002 <0.002  <0.002
Wmooom M OB = F (mg/l) <0.004  <0.004| <0.004| <0.004  <0.004  <0.004
YT UM A A RO ALY 7 (mg/L) <0.001  <0.001| <0.001| <0.001  <0.001| <0.001
A ER KO H M BEEZEFR (ng/L) 0.95 0. 56 0.49 0. 56 0. 80 0. 94
7 v F LR OEZE O AE W g/ <0.08|  <0.08 0. 09 0. 10 0.11 0. 09
m v HE K ONXE O E W (ng/L) €0.1 0.1 0.1 0.1 0.1 0.1
Py iy 1k B F# (mg/L) <0.0002| <0.0002 <0.0002| <0.0002| <0.0002 <0.0002
L4 — ¥ F X ¥ v (mg/l) <0.005  <0.005| <0.005| <0.005 <0.005  <0.005
i; /?2?1,‘;@‘:;‘:’5 j ;;%9 (mg/L) <0.004 <0.004| <0.004 <0.004| <0.004 <0.004
Y 7 wm w A Z v (mg/L) <0.002  <0.002| <0.002  <0.002| <0.002  <0.002

% > % 7 B u = F L > (mgl) <0.001 <0.001 <0.001 <0.001 <0.001  <0.001
kU 7 e x F L v (mg/l) <0.001 <0.001 <0.001 <0.001 <0.001  <0.001
~ N il > (mg/L) <0.001 <0.001 <0.001 <0.001 <0.001  <0.001

% |y # s (mg/L) <0.06| <0.06  <0.06| <0.06 ~ <0.06  <0.06
7 =t = i3 Bz (mg/L) <0.002| <0.002| <0.002 <0.002  <0.002| <0.002
7 = = A A (mg/L) 0.005  0.005| 0.010, 0.008 0.007  0.005

S 7 = = i3 Bz (mg/L) <0.003| <0.003 0. 005 0.003  <0.003| <0.003
Y 7 v ® s vua A X (ng/l) 0.003|  0.002] 0.003 0.004  0.007  0.007
5 =S Bz (mg/L) <0.001| <0.001| <0.001 0.001 0.002 <0.001

gl U N e 2z v (mg/l) 0.012/  0.011 0.019/ 0.019] 0.024  0.021
| A = S = S /S (=74 ) <0.003| <0.003 0.004  <0.003 <0.003| <0.003
7 u ® Y7 v Ba A X v (ng/l) 0.004|  0.004/ 0.006/ 0.007  0.008  0.007
7 = £ A 2 A (mg/L) <0.001 <0.001 <0.001  <0.001 0.002/  0.002
A v A 7 A F b K (mg/L) <0.008  <0.008| <0.008 <0.008| <0.008  <0.008
o & O o b & W (ng/L) <0.1 <0.1 <0.1 <0.1 <0. 1 <0.1
TNI=AERZEDOILEY (mg/L) 0.02 0. 02 0.03 0.05 0.07 0. 04
W Ok Y = o b & W (mg/L) <0.1 <0.1 <0.1 <0.1 <0. 1 <0.1
F MU T AKROYEOAEY (ng/L) 13.3 10.6 10.0 11.3 14.8 13.8
ANT YL TRV L% GEE)  (ng/L) 40 33 35 37 39 38
3 B 7% ® Y (mg/L) 96 78 81 74 102 98
ke 4 A4 v /A om & M A (ng/L) <0.02  <0.02 <0.02  <0.02 <0.02  <0.02
v ES % N > (ng/L) <1 <1 <1 <1 <1 <1
2- A F ) A VRNV R A — L (ng/L) <1 <1 <1 <1 <1 <1
F 4 A v B om i M Al (mg/L) <0.005  <0.005| <0.005| <0.005 <0.005  <0.005
7 - J — 2 H\ (mg/L) <0.0005| <0.0005 <0.0005/ <0.0005 <0.0005 <0.0005
TrvFEUOETZONAAY (ng/l) <0. 002 <0. 002
77 vk RXE O AE W (ng/l) <0. 0002 <0. 0002
= r NV EOZEOAAEYW (ng/l) <0. 002 <0. 002
,2- ¥ 7 v v x= % > (mg/l) <0. 0004 <0. 0004
k L - > (mg/L) 0. 04 0. 04
T ENVEEY - F~F ) (mg/L) <0.008 <0. 008

=arin b8 F# iz (mg/L) <0. 06 <0. 06

Bl s wwo 7w h=1FU L (gl <0. 001 <0. 001

i ook v 0w 5 — b (mg/L) <0. 002 0. 003

;r; = S 3 <1 <1

i |ilE Hi 74 s (mg/L) 2.4 1.8 1.9 2.4 3.0 1.6

H(,1,1- U 7 m v = &% » (mg/l) <0.03 <0. 03

BlxFr-t-7F 1 =—5 1 (ITBE)  (mg/L) <0. 002 <0. 002
5 £ G E (TON) 1 1 1 1 1 1
z v v 7T B % -1.4 -1.5 -1.5 -1.3 -1.2 -1.3
- T S S | (CFU/m1) 0 0
Ll — Y7 uvnam=xF L v (gl <0.01 <0.01
s . I
plsassaseiond N e <5 ;
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10 11 12 1 2 3 =14 R AR )
<0. 0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 12 <0.0003| <0.0003| <0.0003
<0. 00005 <0. 00005 <0. 00005 <0. 00005 <0.00005|<0. 00005 12 <0. 00005 <0. 00005 | <0. 00005
<0.001 <0.001| <0.001| <0.001  <0.001  <0.001 12 <0.001 <0.001  <0.001
<0.001  <0.001| <0.001| <0.001  <0.001  <0.001 12 <0.001 <0.001  <0.001
<0.002  <0.002] <0.002 <0.002| <0.002| <0.002 12 <0.002) <0.002 <0.002
<0.004  <0.004 <0.004 <0.004| <0.004| <0.004 12 <0.004| <0.004| <0.004
<0.001 <0.001| <0.001| <0.001  <0.001  <0.001 12/ <0.001  <0.001  <0.001

1.14 1.08 0.98 1.00 1.23 1.15 12 1.23 0. 49 0.91

0.10 0. 10 0. 10 0. 08 0.09  <0.08 12 0.11  <0.08  <0.08

0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
<0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 12 <0.0002| <0.0002| <0.0002
<0.005 <0.005 <0.005 <0.005 <0.005| <0.005 12 <0.005 <0.005  <0.005
<0.004 <0.004 <0.004| <0.004| <0.004| <0.004 12| <0.004, <0.004  <0.004
<0.002  <0.002 <0.002 <0.002| <0.002| <0.002 12/ <0.002  <0.002  <0.002
<0.001 <0.001| <0.001| <0.001 <0.001  <0.001 12| <0.001 <0.001  <0.001
<0.001 <0.001| <0.001| <0.001 <0.001  <0.001 12| <0.001 <0.001  <0.001
<0.001 <0.001| <0.001| <0.001 <0.001  <0.001 12| <0.001 <0.001  <0.001

<0.06  <0.06/ <0.06  <0.06/  <0.06|  <0.06 12| <0.06  <0.06  <0.06
<0.002 <0.002] <0.002 <0.002| <0.002| <0.002 12/ <0.002 <0.002  <0.002

0.003  0.004  0.004  0.004  0.003|  0.002 12/ 0.010  0.002  0.005
<0.003  <0.003/ <0.003 <0.003| <0.003| <0.003 12/ 0.005 <0.003  <0.003

0.004  0.004  0.003  0.003  0.003  0.002 12 0.007  0.002  0.004
<0.001 <0.001| <0.001| <0.001 <0.001  <0.001 12| 0.002 <0.001  <0.001

0.012  0.014, 0.011  0.011|  0.010| 0.006 12 0.024  0.006  0.014
<0.003  <0.003| <0.003 <0.003| <0.003| <0.003 12/ 0.004 <0.003  <0.003

0.004  0.005  0.004  0.004  0.004|  0.002 12/ 0.008  0.002  0.005

0.001  0.001 <0.001 <0.001 <0.001 <0.001 12| 0.002 <0.001  <0.001
<0.008 <0.008 <0.008 <0.008 <0.008| <0.008 12| <0.008 <0.008  <0.008

<0.1 0.1 <0.1 0.1 <0.1 0.1 12 0.1 <0.1 <0. 1

0. 04 0. 04 0. 02 0. 02 0.02 0. 02 12 0.07 0. 02 0.03

<0.1 0.1 <0.1 0.1 <0.1 0.1 12 0.1 <0.1 <0. 1

13.6 14.2 14.7 14.5 16.3 14.1 12 16.3 10.0 13.4

40 40 43 42 45 41 12 45 33 39

95 101 108 88 113 122 12 122 74 96
<0.02  <0.02 <0.02  <0.02]  <0.02|  <0.02 120 <0.02 <0.02/  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005 <0.005 <0.005 <0.005 <0.005| <0.005 12 <0.005 <0.005  <0.005
<0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12/ <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4 <0.002] <0.002| <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002| <0.0002
<0. 002 <0. 002 4 <0.002] <0.002| <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4 <0.04| <0.04| <0.04
<0. 008 <0. 008 4 <0.008 <0.008 <0.008
<0. 06 <0. 06 4, <0.06/ <0.06/  <0.06
<0. 001 <0. 001 4 <0.001| <0.001  <0.001
<0. 002 <0. 002 41 0.003 <0.002| <0.002
<1 <1 4 <1 <1 <1

3.5 1.9 1.7 3.0 2.8 2.5 12 3.5 1.6 2.4
<0. 03 <0.03 4, <0.03/  <0.03  <0.03
<0. 002 <0. 002 4 <0.002] <0.002 <0.002
1 1 1 1 1 1 12 1 1 1

-1.2 -1.3 -1.3 -1.4 -1.4 -1.5 12 -1.2 -1.5 -1.4
0 0 4 0 0 0
<0.01 <0.01 4, <0.01  <0.01  <0.01
<5 7 4 7 <5 <5
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BN 7 R R AKAR K

(2D 3) BEHH

/ 5 7 10 2 EE Rm | RE T

HH

1,3—y7un7rX (D—D) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D ( 24 — P A ) (mg/L)| <€0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
T o e 7 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 * = ES — ~ (mg/L) <0.0008|  <0.0008| <0.0008  <0.0008 4/ <€0.0008| <0.0008  <0.0008
T s 7 Y v (mg/L) <0.0001| <0.0001  <0.0001| <0.0001 4| <€0.0001| <0.0001  <0.0001
T = =4 N Z (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T 3 k = A (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
T v 4 = — JL (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = v & A (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
A 7ua )7 (MIPC) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4/ <0.0001 <0.0001| <0.0001
AV 7uaF 47 (IPT) (ng/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A4 7 7 = v B v N Y (ng/Ll)

A4 7 ~X AR A(IBP) (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009|  <0.0009
A4 X J 7 X ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 v X ) 7 7 v (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
= X ZF v H J 7 (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
T b7 = v 7 va vy 7 A (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
TURZNL T 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
F ¥ % Y 7 v A AR v (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
F x> 8 (A B 8 ) (meg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
F UV ¥+ X b v B ¥ (mg/l)

Vi) 2 A N Z  (mg/L) | <0.000006| <0.000006| <0. 000006 <0.000006 4| <0. 000006 <0.000006| <0. 000006
J1 7 = v A bk 1 — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
Vi) % i % 7 (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
J N Y L (N A C ) (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
i) 2 < > (mg/L) | €0.000003| <0.000003 <0.000003| <0.000003 4| <0.000003| <0.000003| <0. 000003
¥ /27 732 (A CN ) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
% X 7 i v (mg/L) <0. 003 <0.003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
7 2 % = > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 ) TN A — I (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y % — b (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v A 7 v v 7 (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
sl =ra 7=z (CNP) @@mg/L)| <0.0001  <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 wm J U A& A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
souaZuoa=,b(TPN) @@mL)| <0.0005 <0.0005 <0.0005 <0.0005 4| <0.0005| <0.0005  <0.0005
D4 T 7+ Y > (mg/L) | <0.00001| <0.00001| <0.00001 <0.00001 4| <0.00001| <0.00001| <0.00001
7 K A (CY AP ) (mg/L)| <€0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
Y vy (DCMU ) (mg/)| <0.0002 <0.0002 <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
7 X =)L (DBN) (mglL)| <0.0003 <0.0003 <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
)R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
D% 7 1 > ~ (mg/L) <0.0001| <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001  <0.0001
P ZIVRR (mF L FF AR ) (mg/L) | <0.00004| <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)

D i i = JL (mg/L) | <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
oo m R oy 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
> % ¥ v (C A T ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
v oX X Ak U v (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
% A K - — K (mg/L) | <0.0005 ~ <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
D4 A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
2 A T Y J v (mg/L) | <0.00003| <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003| <0.00003
5 A N i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
B AR AF (T —30) R (ng/L)

AFNAI)TF X T X —F
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A T % = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
5 74 =z 2 (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4/ <0.0002| <0.0002| <0.0002
F A ¥ J v 7 (mg/L)| <0.0008 <0.0008  <0.0008  <0.0008 4 <0.0008  <0.0008  <0.0008
F A 7 7 3 — kA F L (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F 4 X v 7 (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4 <0.0002|  <0.0002  <0.0002
T 7 U K~ U F ¥ (mg/L)| <0.00002 <0.00002 <0.00002 <0.00002 4| <0.00002| <0.00002| <0.00002
FIUTHLT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002  <0.0002  <0.0002
b ) 4 = = JLU (mg/L) | <0.0003  <0.0003 <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
MU Z ok (DEP) (mg/L)| <0.0002 <0.0002 <0.0002  <0.0002 4| <0.0002  <0.0002  <0.0002
U Y T 7 — L (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
U 7 v Z U v (mg/L) €0.0006  <0.0006  <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ 7 = N g K (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — I (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
= ~ o N Z (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
= v 7 = = )L (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4, <0.0001  <0.0001| <0.0001
E 7 Y ¥ ¥ 7 = ¥ (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4, <0.00004| <0.00004 <0.00004
IV R—hK (YL —bF) (ng/L) <0.0002|  <0.0002| <0.0002  <0.0002 4, <0.0002| <0.0002|  <0.0002
U X 7 = v F F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
v v 7 F B N T (mg/l) <0.0002|  <0.0002| <0.0002  <0.0002 4/ <€0.0002| <0.0002  <0.0002
=4 id ¥ =4 > (mg/L) <0.0005|  <0.0005| <0.0005  <0.0005 4/ <0.0005| <0.0005  <0.0005
7 4 A = = L (mg/L) | <0.000005 <0.000005 <0.000005 <0.000005 4 <0.000005| <0. 000005 <0.000005
TJxz=braF AL (MEP) (mg/L) <0.0001| <0.0001  <0.0001| <0.0001 4| <0.0001| <0.0001  <0.0001
Z7x /)7 ANT (BPMC) (mg/L) €0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 ES ) UN ' > (mg/L) | <0.0005 ~<0.0005  <0.0005  <0.0005 4, <0.0005/ <0.0005  <0.0005
7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4, <0.00006 <0.00006 <0.00006
7 =z bhx= — K (PAP) (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4, <0.00007| <0.00007 <0.00007
7 = v b 7 ¥ I K (mg/l) <0.0001| <0.0001| <0.0001  <0.0001 4| <0.0001  <0.0001  <0.0001
7 Va 7 A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 K2 7 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4 <0.0003/ <0.0003  <0.0003
7 ol =} R A (mg/L) <0.0002|  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 m 7 = ¥ v (mg/L)| <€0.0002 <0.0002  <0.0002  <0.0002 4 <0.0002|  <0.0002  <0.0002
7 v 7 ¥ F A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
7> v F T 7 v — )b (mg/L) <0.0005| <0.0005  <0.0005| <0.0005 4 <0.0005| <0.0005  <0.0005
7 i D4 = K v (mg/L) <0.0009|  <0.0009| <0.0009  <0.0009 4/ <0.0009| <0.0009  <0.0009
7 v F & A& A (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4, <0.00007| <0.00007 <0.00007
7 m ¥ =2 F ) — L (mg/L)| <0.0005  <0.0005 ~ <0.0005 ~ <0.0005 4, <0.0005/ <0.0005  <0.0005
7 i = A N K (mg/L) <0.0005|  <0.0005| <0.0005  <0.0005 4/ <€0.0005/ <0.0005  <0.0005
7 mu X F Y — L (mg/L)| <0.0003 <0.0003 ~ <0.0003  <0.0003 4, <0.0003| <0.0003  <0.0003
7 i = 7 ¥ K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 2 L (mg/L) <0.0002|  <0.0002| <0.0002  <0.0002 4/ <0.0002| <0.0002  <0.0002
~ v DA o v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009 ~ <0.0009 4, <0.0009| <0.0009  <0.0009
~N v Y 7 = F v 7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
~ Mg b i v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T o A K2 U v (mg/L) <0.003 <0.003 <0.003 <0.003 4 <0.003 <0.003 <0.003
N v 7 Z 4 v 7 (mg/l) <0.0002|  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
RT3 (R_R2a2r) (ng/L) <0.0001|  <0.0001  <0.0001  <0.0001 4/ <0.0001| <0.0001  <0.0001
~ v 7 L & — b (mg/l) <0.0007|  <0.0007| <0.0007  <0.0007 4/ <0.0007| <0.0007  <0.0007
A A F 7 ¥ — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
~ 7 F A (~F 7 ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7oy 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4 <0.0005  <0.0005  <0.0005
A > = L (mg/L) <0.0003|  <0.0003| <0.0003  <0.0003 4/ <0.0003| <0.0003  <0.0003
A i = X DA L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AFHZF A (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4, <0.00004| <0.00004 <0.00004
A K~ I J A F m B v (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004 <0.0004  <0.0004
A F ) 7 Y > (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003  <0.0003
A 7 = F v v k (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002  <0.0002|  <0.0002
A 7 = = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
= J b — I (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4, <0.00005 <0.00005 <0.00005
=3 B A <1 <1 <1 <1 4 <1 <1 <1
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